TRACTOR

0450-0

-09S-

| 400

Code

aris

P






L

IN=V DX IDTERICHI--T

=) X N DFERK

0OAy yFHTL2700, FROERSS, HESRUELIEBOS2HBHRL TVET,
=YY /IFE3AGI -BRKEERL TWET, FIfl=>2 v (1400-099-0333-0) ¥ BT
S,

i z
B X X % % i#
¢ v vvre SKg AT 4/';‘;76/'“
TL2700-C ®)
TL2700 |TL2700-H O @) O
TL2700-G O O O O
TL2700F-C O
TL2700F [TL2700F-H O O O
TL2700F-G O @) @) O

OMMBBILa V=2 — 23— FiZ->TRY, BODANREREZEDLLTED =4,
BAFR2— FiZkEORD T,

B X I — F B K a - F B X 2 — F B X a - F
TC10 1401 TB2000O0 1416 TS3110 1431 TU1700 1480
TC15 1402 TB2800 1417 T5000 1432 | TU1900 1481
TB15 1403 TS2500 1418 T6500 1433 TU2100 1482
TB20 1404 TS1700 1419 TX1410 1434 T7000 1487
TR1 1405 TS2200 1420 TX1510 1435 TL2800 1488
TR1L 1406 TS1610 1421 TX1210 1436 TL3200 1489
TB17 1407 TS1910 1422 TS2202 1437 TS4510 1490
TR1S 1408 TS2210 1423 TS2220 (| 1438 TU1500 1491
TR1LD 1409 TS2510 1424 TS3910 1439 TU1600 1492
TB23 1410 TS2810 1425 T800O 1440 TU1400 1493
TM1200 1411 TS3510 1426 T9 00O 1441 TL3700 1505
TB2300 1412 TX1300 1427 TL1900O 1444 TL4100 A 1506
TB1700 1413 TX1000 14238 TL2100 1445 TL2700 1507
TB1400 1414 TX1500 1429 TL2300 1446 TL4000O 1508
TB2400 1415 TS2205 1430 TL2500 1447 TL4100 1513

OCWMESDHIZ [V W] DONTWAHMiE, BEFELEZEDLTWVWET,
[ ]| ooocosonsoaseoaseaaaosanonnss 7] IR (=l
[W7 ] ocococcosaosooaanaoscoaosasna 4 F A
OFMMEND [COMP | Lig 2 8lED = —x vy Nid» v A WL BERBHREZRL TV 13,



012D [SET) DEMEBRIT - FHFLTIFTIFTIAMNLTHDET,
(o)
ATTY v IkRA4A—=LSET
c AT T Y VI ARA =
CATTYVVIFay T AT TV vIRA =S ETOREIM
ez VT LA

CWMEALED (L) (R) LiF, #THAKE> T, NiIBMTRELY RTRRLTB) £7,

i % 0P Y
e e e 5 80 3R
[\ e éﬁﬁﬁﬁ!ﬁﬁ@'
AR - B B A
. F OB M

2 PR AEZCOWLTDOERAL
oI HFE - Fika vEa—823a - A>TV, HEWZEISBERICEXLTT
SV,
MFE=— FOBERIE, Ba-F01 0KEERS LBRERSBBMENE LT,

WOE W
0000-000-0000-0

BROXS (XE)
® & E B

3 EE]eICoLT
BEWMGITT AT 7o — (25PB Y5), TAEVHTA L (25Y3 ), §-2775
v v (NL5) D 3IFEETT,
gEEa - VEEREBEOR, 1 2B OLUADEFEREAL THVET,




TL2700

Fig. 1 S Uz — BB e e
Fig. 2 T 7Y —FBIR e e
Fig. 3 7V —RA R IV v —gBAR
Fig. 4 ,v}—iy;{n.,bgg% .....................................................................
Fig. 5 TV —=ABRR o e
Fig. 6 TIANT T 9 bBLFATT Y VIZBIFE oo,
Fig. 7 RT — AT T Y VIBIGR e e
Irig. 8 7V b T 7 ANLBRR (SE) e,
Fig. 9 7Y FTIZALBEE(FRE )
Fig. 10 A= N N (s - 2
Fig. 11 T7AFTNy —ABIFFT v 77 —ABR oo,
Fig 12 7Y bhhRAABEGR (CSHE ) e
Fig. 13 7R YV bRANBEE(FE ) e,
Fig. 14 AT T Y VIHRA —ABIER  creererrrorere e e e
Fig. 15 7R Vb v Ya v —ABBR 0 e
Fig. 16 7evbiyvvavFY—BfF 1) (C,HH)
Fig. 17 7rvbivvasvFy—EBEfE 1) (GH)

Fig. 18 7erVvbiovvavFY—BF @ (C,HHE)
Fig. 19 ZeviriyvvavFYy-—BFE @ (GH)

Fig. 20 F VDU T BIR e e e
Fig. 21 wZR=IVZ0 NI N G A - < S TR
Fig. 22 75 9 FREBAMR e e
Fig. 23 75 5 FBIMR  cereereereerere et et et eee e e
Fig 24 ANV I - - I - O USSP
Fig. 25 G S N < PSP Spo
Fig. 26 DA I o s vl — ZBAME e e,
Fig., 27 D I e el : < I - S SO

12
14
15
17
19
20
21
23
24
25
27
29
31
33
34
35
36
38
39

41



Fig
Fig
Fig
Fig
Fig
Fig
Fig
Fig.
Fig
Fig
Fig
Fig
Fig
Fig
Fig.
Fig.
Fig
Fig.
Fig.
Fig.
Fig
Fig
Fig.
Fige
Fig
Fig

Fig.

Fig

28

29

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

w7 Fx v B

PTO>+7 bBAfR -
PTOF=vyv-—Bfk
7—:7;]-_155% ............
VYT 7 ALA~Y D v SERfR
T — B e
ZAZt - o [° S
Y ¥ hA — A BAGR e
vy vy — A%k e
AN - S
Kyvavavibe—BR
2 v be—n7 —sB86

A~ KB Y v 7L E VT (
~AFr Yy 734 (

AY =R VPV ART A

.77 ‘/jJ/{—-%% .........

I 41
T e T hA—BAR e
S b BA R e
AT 9 TEFE e
g BA (R (1) e
T % B HR(Q e
EEXBEKO

B RBM GO

TAXYY VT EA NI T A

-7 - y @ f."-ﬁ ............
T 7§< ............
ly x A |

C, HE) e
GHE )  eereeerreemreneni e

.........................................................

45

46

48

50

51

52

53

54

55

57

59

60

62

65

67

68

69

71

72

73

74

75

77

79

80

82

83







T

REES | 88 & 12— F & % ;mi; R .}
1- 1 1507-101-3000-0 ( v =—% ASSY 1|1
1- 2 1444-101-3120-0 | e A5+ 7 & 1] 1
1- 3 1421-101-3130-0 | s %% » 7 1] 1
1- 4 1424-101—-2030-0 | » 75 7 1] 1
1- 5 1424-101-2040-0 | 35 % v 1|1
1- 6 V20126-080160 axg Kt 4| 4|M8x16
1- 7 V40116-000800 S.W 4| 4|M8
1- 8 1444-101-0011-0 | 53— H—-=Ax Fo=x— o g— 1{ 1
1- 9 1444-101-0020-0 | 55— -2 So=xz—8 7T, 1] 1
1-10 1421-101-0120-0 | 7V » 7 (33) 11
. 1-11 1424-101-0040-0 | 7V » 7 (45) 3| 3
1-12 1444-101-0120-0 | Fvrv sh—= 1|1
1-13 1417-102-0050-0 [ 73 —A vV} 21 2
1-14 3737-172-0090-0 | A4 Y »~—%A 75 .4 111
1-15 1444-101-0160-0 | 5o=—% H—R 735 v 1] 1
1-16 V20026-060120 F b 1] 1i{M6x12
1-17 V40116-000600 S.W 1| 1|Msé




7 7

T B &

ik 5d
RHES &2 -—-FK an =4 T 18
2- 1 1444-101-3600-0 | =7 2V —3% ASSY 1] 1
2~ 2 1444-101-3700-0 | eX—t = v} ASSY 1] 1
2— 3 1421-131-2110-0 | e 94 v 7 Fab 1] 1
2- 4 1419-101-0100-0 | e Sy F v /(UL VS Fat) 1] 1
2- 5 1444-101-3800-0 | = ¥ X} v ASSY 1|1
2—- 6 1421-131-2220-0 | o e = — v 5 v=— .t (B) 1f 1
2— 7 1444-101-3900—0 | o ¥4 &% ASSY 1( 1
2- 8 1419-101-0130-0 | ® e <5 F v 7 ( F( &) 1] 1
2— 9 1444-101-3920-0 | o o 5.3— 1|1
2-10 1444-101-4000-0 | =7 29— .iv§ COMP 1] 1
2-11 1444-101-0060-0 | 7 » v a v = A 2| 2
2-12 V27016-080200 Fa FEab 1| 1[M8x20
2-13 V40116-000800 S.W 1| 1(M8
2-14 1444~101-3500-0 | =7 2V —3 ~—=x COMP 1] 1
2-15 V20126-080160 axE FEat 4| 4|M8x16
2-16 V40116-000800 S.W 4| 4{M8




Fig. 3

T - bLUA T 7R

l A
REES B&s 22— K ah £ s 7 3z} B
3- 1 1444-101-4100-0 | £ vV » b 47 COMP 1] 1
3- 2 1444-101-0070-0 | =& -S4 7 1] 1
3- 3 1415-101-0400-0 | 7V » 7 (C) 2| 2
3- 4 1444-101-4201-0 | =7 5 — COMP 1] 1
3- 5 1444-101-0080-0 | # A% » b 111
3- 6 V33350—-001000 axg Fyb(kya) 4| 4[M10 P=125
3- 7 V33550-001000 axE Fob (K7 A) 4] 4 I?d%%)Pﬂ'zs
3- 8 1444-101-4300-0 | ¥~ 347 COMP 1] 1
3- 9 1444-101-4400-0 | #5 v 7 COMP 111
3-10 V20126-100550 248 HEAb 1| 1|M10x55
3-11 V40116-001000 S.W 1| 1|M1o0
3-12 V41316-001000 FiwA FHF 2| 2[M10
3-13 V30026-001000 F b 1] 1|M10
3-14 1444-101-4501-0 | A b » 7 Fv—F 1|1
3-15 1444-101-0090-0 | =7 ZY—3% V¥ 1|1
3-16 1444-101-0110-0 |=2=a¥& FT-—n 1] 1
3-17 1444-111-2500-0 | =*-34 #-{— COMP 1|1
3-18 V20026-060120 F Ak 2| 2 |M6x12
3-19 V46116-000600 S . W 2| z|M6
3-20 V41316-000600 F I HHF 2 | 2 |M6
3-21 1444-101-3000-0 | #v2 F 34 5+ (L) COMP 111
3-22 V20126-080160 aHF HEAb 2 | 2 |M8x16
3-23 V40116-000800 S . W 2 | 2 |M8

e By A e

e e e e g ek e e




REES | & 10— K fh i 38

4- 1 1444-601-2001-0 | X v %, +F COMP 1] 1

4- 2 1444-601-0010-0 | 7 5 v o v =4 6| 6

4- 3 1444-601-2301-0 | ».3— (A) COMP 1] 1

4- 4 V11116-600120 TSR FX axy 2| 2iM6x12

4- 5 V40116—000600 S.W 2| 2|Ms

4— 6 1444-601-2401-0 | #-3— (B) COMP 1] 1

4- 7 1444-601-2500-0 | A » X COMP 1(1

4- 8 1444-601-0020-0 | v & —==zxa, 111

4- 9 1444-601-0030-0 | 7 » >+ (10x20x1.5) 11

4-10 V30226-000600 F b 2| 2|M6 (38&)

4-11 1444-601-0040-0 | A} 5 7 RFV v 1|1

4-12 V11116-600120 TR FX axy 21 2 |M6x12

4-13 V40116-000600 S.wW 21 2|M6

4-14 V30026-000600 F 5 b 2| 2 |Ms

4-15 1444-601-0050-0 | Z =2 5 } (7Tx14x1) 11

4-16 1444-601-0061-0 | H.{— =xF— 1 (1

4-17 V50015-200150 7)) ¢V 3| 3|2x15

4-18 1480-601-0061-0 | = 5 F =7y vy 1] 1

4-19 V40116-000600 S.w 3| 3 (M6

4-20 V11116-600120 TIR FX iy 1] 1 [Mex12

4--21 V41316-000600 FIwA FHFE 2| 2 |Ms

4-22 1444-601~0070-0 | v vy L —} 2|2

4-23 1444-601-0080~0 | v v (6x30) 20 2

4-24 V20026-060120 Fab 2 | 2 M6x12
1] 1

4-25

1444-601-0210-0

Zavr =-—12




Fig. 4 KX > X%

&3 -—-FK

4-26
4-27
4-28
4-29
4-30
4-31
4-32
4-33
4-34
4-35
4-36
4-37
4-38
4-39
4-40
4-41
4-42
4-43
4-44
4-45
4-46
4-47
4-48
4-49
4-50

1444-601-0220-0
1444—-601-0230-0
1444-601-0250-0
1444-601-0120—-0
1444-601-0130-0
V41316-000800
V40116-000800
V20126-080350
1444-601-0140-0
1444-601-2611-0
1444-601-0150-0
V35016-000600
V27016-060120
V41316-000600
1444-601-2700-0
1444-601-0170-0
V20126-080160
V40116 000800
\20026-060120
V40116-000600
1444-601-0180-0
1444-601-0190-0
\'30026-000600
V40116-000600
1421-621-2100-0

viA— Ty va
hoim JyaY
75 v% (10%x40%2)
35— (9%x14%x18)
7yvav FTu(F)
Fi=wN FHF
S.W

axg Kb

VN %

vt

Fyb 797+ (6x14x3)
A=V FyF(P)
F=sv HEarb
Fi=wn FIHE
7aevtr H-i— COMP
TUE Pl

aFs FHab

S . W

Foavb

S.W

44 F »7vesz (L)
+4 ¥ Y7vrsz(R)
F o b

S . W

P

—

‘—'QAHHNNOOHH(\)NUWWHHNNNNN)—'

—_

‘—-'&AHHNNmmHHNNmmHHNN&NNH&H

M6x12
M6

M8x16
M8
M6 x12
M6

Meé
M6

e




RHEES

B4 o - K

1-51
4-52
1-53
4-54
4-55
4-56
4-57
4-58
4-59
4-60
4-61
4-62

=]
222

1444-621-2900-0
1421-621-0390-0
1421-621-0410-0
V20216-100500
V40116-001000
V30026-001000
Vi1116-600120
V40116-000600
V41316-000600
1444-601-0260-0
1444-601~0280-0
V30026-000600

Sh % H ]

S| F

17— AF— COMP 1] 1

$9~ T35, ¢ 111

Sy 1§11

IHE FHaAb 1 1 {M10x50

S.w 1 1 [(M10

+ o b 1 1 |M10

T7A FX iz 4| 4 |M6x12

S.w 41 4 (M6

TIiI=wL FHx 4 4 M6

Z79¥av TA(20x20x1) 2| 2

Y= (16) (747 Fr-—) 4] 4

F v b 1 1(Ms




jliif 3
1HES T B o £ s ¢ 18
5- 1 1444-101-3200-0 | 5v=—% A7 — (L) COMP 141
5- 2 1444-101-3300—-0 | 3v=—4% A7 —(R) COMP 1] 1
5- 3 | V20126-100160 axE Fab 4| 4{M10x16
5- 4 V40116-001000 S.W 41 4[M10
5- 5 1444-101-3400—0 | 7o v+ 7v—4& COMP 2| 2
5- 6 1444-101-0030-0 | 7V —3% ¥—-nA FJuv—t 1] 1
5- 17 V20026-060160 HEA b 3| 3|M6x16
5- 8 V40116-000600 S.W 3| 3{M6
5- 9 V30026-000600 F v b 2| 2|Ms6
5-10 1444-101-0040-0 | 5v=—28 v—n(A) 1|1
5-11 1444-101-0050-0 | 7 v=—2% < —2(B) 2| 2
5-12 V20026-060120 H b 6 | 6 |M6x12
5-13 3740-162-0050-0 | 7V » 7 + A HFHZF 10 {10
5-14 V20026-060160 Ak 2| 2 |M6x16
5-15 1444-101-0130-0 | 7V —3 ~—na =& (A) 111
5-16 1444-101-0140-0 | 20— »—n = 4(B) 111
5-17 1432-602-0070-0 | 7 5 ¥« 6| 6
5-18 V50016—300150 7YYV 6 6 13%X15
5-19 1444-101-0150-0 | 5o=—2 »—n(C) 1|1
5-20 1444-111-0010-0 | =v o v Hhoi— 111
5--21 1432-602-0070-0 | 7 » ¥« 9| 9
5-22 W20620-300700 FS5AVFE Dy b 9 | 9 |3x%7
5-23 3746-261-2050—0 |exFar HoF+ VA4 717
5-24 V20126-080160 axg Hrb 4| 4 [M8x16
H=28 V40116-000800 Y 4 | 4 |MS
5-26 1444-111-0020-0 | 7= 4 » b 21 2

=4




Fig. 6

TOANT Ty bEEURTT ) o & RE%

RHES &3 -—- K &R % sﬁ;i‘ i) % %
6— 1 1444-401-2001-0 | 7/ AL Z 5% , + COMP 1| 1 )
6— 2 V20146-140350 IaHE AL 6| 6|Mi14x35 (9T)

6— 3 V40116-001400 S.wW 6| 6|Mi14

6- 4 1444-407-2200-0 | A77 9V v~ ASSY 1] 1

6— 5 1444-407-2210-0 | o 7 — & 1] 1

6— 6 V41316-002000 *FITA HHE 1] 1|M20

6— 7 1444-407-2220-0 | s a# & IV Y% ., b (54) 1| 1

6— 8 V50015~400350 ° 7Y v 1] 1{4x35

6- 9 1421-433-0040-0 | / » 7 ¥ v 2| 2

6-10 V20146-120250 IHE HEAL 41 4|M12x25 (9T)
6-11 V40116-001200 S. W 4| 4|Mi2

6-12 1444-407-0010-0 | ®®» + FL—} 1 1 } CRA
6-13 V20146-100300 IHE HEAb 6| 6|M10x30 (9T)
6-14 1444-407-0020—-0 | AT7V V7 Sad b 1] 1

6-15 V20146-100400 a2HE FEaAb 1| 1 M10x40 (9T)
6-16 V40116-001000 S.w 1| 1{M10

6-17 V30346-001000 IHE Fu b 1| 1{M10 (7T)
6-18 V40116-001000 S. W 6| 6

6-19 1446-402-0011-0 | € ¥y + 2 21 (F) 1

6-19-1| 1444-412-0030-0 | €#, + 2 &1 (F) 1

6-20 1446-402-0021-0 | 45 b 2 & (R) 1

6-20-1| 1444-412-0050-0 | ¥#, F x #4 (R) 1

6-21 V20126-120350 ayE  Hub 4] 4|M12x35

6-22 V40116-001200 S. W 4] 4|M12 J
6-23 V20146-160450 IHE HALL 2| 2[Mi6x45 (9T)




Fig. 6

FTHANT Iy b&ELURTT Y IHE

RHES l ;w&HE I~ F aa £ S{mﬁ;‘ o) %
6—24 V40116-001600 S.W 2| 2|M16
6-25 V52010-100220 ~A4 a3y Ev(A) 4| 4|10x22 (H7)
6-26 1421-436-0021-0 | =% 7 » ¥ = (45x50%25) 1
6-27 1444-412-0040-0 | AF A+ HF-— 1
6-28 V72010-350450 " yvy 1 |P45
6-29 1444-412-0061-0 | =% 752 (60%x65x%x30) 1
6—30 V72010-570600 oy vy 1 |P60
6-31 1444-952-0010-0 | <v-t v=A b 6| 6
=7




' #
RHES | $ &3 - K 2 % f -1 ® 1 %
7- 1 1444-408-2001-0 | .*9— =AF7V vy ASSY 11
7- 2 1444-408-2010~0 | e 7— & 1] 1
7- 3 | V32126-002700 CIVVYE Fub(F4) 1| 1[|M27 (28)
7- 4 V50015-500500 e 7Y Yv 1| 1|5x50
7- 5 1444-407-0020-0 | AF 7V v w.q b 11
7- 6 V20146-100400 aHE Eab 11 11M10x40 (9T)
7- 1 V40116-001000 S.W 1} 1]M10
7- 8 V30346-001000 IHFE F, b 1] 1|M10 (7T)
7—- 9 1421-433-0040-0 VPR 2 2
7-10 V20146-120250 IHE At 5| 5|M12x25 (9T)
7-11 V40116-001200 S.wW 5| 5[|M12
7-12 1444-408-0021-0 | €5 F FiL—} 1|1
7-13 V20146-100250 aHpE HEh 6| 6 [M10x25 (9T)
7-14 V40116-001000 S.w 6| 6 |M10
7-15 K135-004-0000-0 | ¥+ - #v ASSY 1] 1|GPL1-53R-010
7-16 1404-503-0060-0 | kA A Hv T .2, 3 111
7-17 1444-408-0040-0 | #7514 v £= 111
7-18 1404-503-0090-0 Fy¥— K7 rx g,y 1 1
7-19 V30326-000800 IFE F b 1| 1|M8
7-20 1444-408-2400-0 (#4141 £ 7 COMP 101
7-21 V20126-080160 aFE Eab 2| 2IM8x16
7-22 V40116-000800 S.w 2| 2 M8
7-23 V78110-000060 TETVF S5 111 (|PT3./8
7-24 1444-408-0051-0 | <7 RF L~ »— - 1|1
7-25 1444-408-2600-0 | -4 7 (A) COMP 1] 1

10



ik ¢
AMES | B &3 - F ) . 9
7-26 V20026—060250 F b 1| 4|M6%25
7-27 V40116-000600 S.W 4] 4|M6
7-28 V72011-240200 "Wty vy 1| 1|P20
7-29 1444-408-0060-0 | =% 7 X 1] 1
7-30 1444-408-2700-0 | -54 7 (B) COMP 1] 1
7-31 1415-505-0140-0 | 257 & Fnrtb 1] 1
7-32 V72011-240180 v Yy vy 2| 2|P18
7-33 1444-408-2800-0 | ~¢4 7 (C) COMP 111
7-34 V20026-060160 HE b 4| 4|M6x16
7-35 V40116-000600 S . W 4| 4|M6
7-36 V72011-240200 O I 1| 1|P20
7-37 1444-408-0070-0 | A4 H—2A 2| 2
7-38 1444-408-0080-0 [ 41 & 29 57 41 4

11




N
~!

> b7 ALBEE (SR

P A 5
51,01 e i
50'|/; /’@@’r - i !
"L é 6-20
4916

i 3
AHES | & 3 — K & # T ) B ] %
8- 1 1447-402-2001-0 | 7mvp 7 2Z7AL COMP 1
8- 2 1407-402-0010-0 | =% 7 5 > (30x34x40) 2
8- 3 V76340-000000 TIR =470 1 B-PT1,/8
8— 4 V74214-560060 FAN v—n 2 %gzggggo
8- 5 1446—402-0030-0 (v & E#, 1
8- 6 1415-401-0030-0 | ¥ # % (21%x42x6) 1
8- 7 | V32026-002000 $YYFE Fy b (aF) 1 Sy
8— 8 V50015-400400 7) vy 1 4 x40
8- 9 V72010-350240 "o" y v 2 P24
8-10 1415-401-0040-0 [ '#, b #H5— 2
8-11 1447-403~2000-0 | 77 x4 =v ¥ (L) COMP 1
8-12 1447-403-2100-0 [ 7722 =+ F(R) COMP 1
8-13 1407-402-0010-0 | =% 7,2 (30x34x40) 4
8-14 V76140-000000 TFIA =470 2 PT1,/8 A#z
8-15 1426-402-0011-0 | #A+ (16%x87) 4
8-16 V30046—001600 o b 4 M16 (77T)
8-17 V40116—001600 S.wW 4 M16
8-18 1404-401-0170-0 | M16 =% 7,24 (B) 4
8-19 1446-404-2000-0 | >+ 271 AREYFA COMP 2
8-20 V63011-302060 VAL am DIYh (F 1Y) 2 30206
8-21 V63011-302040 VAL 3w oyl (F1a7) 2 30204
8-22 1415-403-0020-0 | T. B .B 2 32TAG11A
8-23 1415-403-0060-0 | 2y —F 2
8-24 V74414-065120 FANL v—pn 2 AE2403F0,TC406512
8-25 V74214-065050 T4 - 2 AG2399E0,VC40655
8-26 V74414-255090 FAL —n 2 AE2483E0,TC42559
8-27 V32126-002000 $VVE FL,r(F4) 2 M20x1.5 (2va)
8-28 V50015-400400 7Y v 2 4%40

12



Fig. 8

Jos b7 ZALEE (ST)

A&

BHES | & 3 — F AR % - )

8-29 1421-433-0310-0 | #4 v =1 2 0830374

8-30 1446-404-0010-0 | ¥F3 97 7—4(L) 1

8-31 1446-404—0020-0 | ¥5» 27 7—4(R) 1

8-32 1326-708-0050—0 [ r—& VU o7 Yx 7+ F-— 2

8-33 1404-401-0170-0 | M16 =27 73>+ (B) 2

8-34 1405-401-0060—0 | M16 75>+ 2

8-35 V33026-001600 Fo b (K A) 2 M16

8-36 1423-951-0010-0 | & (A) (05) AR

8-37 1423-951-0020-0 | + & (A) (1.0) AR

8—38 1447-404-0010-0 | #4 =25 F F.—7 (L) 1

8-39 1447-404-0020-0 | 24 = o ¥ F2—7(R) 1

8-40 1447-404-2000-0 | #4 = 5 ¥ COMP 2

8-41 1415-403-0050-0 | #4259 ¥ Xx kb X ZENL 2

8-42 1403-401-0270-0 | 4 m 5 F 45 b+ #Hab 2 _

8-43 V30046-001000 + 2 b 2 M1i0 (7T)

8—44 V40116-001000 S .W 2 M10

8-45 1421-400-0540-0 | = » F =¥ F (L) (R) ASSY 1

8-46 1444-404-2100-0 | » » ¥ =v F(R) (L) ASSY 1

8-47 1423-400-0520-0 | = » F =v F ASSY (R) (R) 1

8-48 1447-404-2100-0 | = » ¥ = F (L) (L) ASSY 1

8-49 1404-402-0010-0 | ¢ #A+ HA— 4

8-50 1421-403-0030-0 | e ¥+ v AL F o b |

8-51 V50015-300200 7Y ¥V 4 3%x20

8-52 1404-402-0050-0 | e 7/ VA =5 71 3

8-53 1432-406-2120-0 | e 7V X =4 7 1

8-54 1421-403-0010-0 | = 7H 2 F 5 b 2

8-55 1421-403-0020-0 | =252 Fo b (edFy FH) 2




Fig. 9 70> F727Z0LBEE%E (FR)

11-1

13

EHES | 8 &% 3 - K & % fﬁ; A % fr

9- 1 1446-412-2002-0 | 77 AL ~Y vy COMP 1

9- 2 V52110-100200 ~4 a2y ¥v(B) 2[10x20 (me)

9- 3 1444-412-0010-0 | 7V —% #5757 1{PT3/8

9- 4 1444-412-0020-0 | v=2 3 HaAb (v—m, ) 8

9— 5 V40116-001000 S.W 8 [M10

9- 6 V30026-001000 F 5 b 8 |M10

9- 7 1421-433-0012-0 | 7y 4 7 5 — = (A) 2

9- 8 1444-413-0021-0 | <~ F - (13) 2

9- 9 V60011-062070 R.B.B 26207

9-10 1446-413-0011-0 | 774 F ¥F3A47F o247} 2

9-11 V20146-100250 IHE HFEAL 12 |M10x25 (9T)

9-12 V40116-001000 S.w 12 [M10

9-13 1421-433-0040-0 | 7 v 7 v 4

9-14 1444-413-0041-0 | <~ F¥—(17) 2

9~-15 V60011-060100 R.B.B 216010

9-16 1444-413-0051-0 | p Y v & 247} 2

9-17 V70414-002500 CHE +2A7(27) 2125

9-18 1421-433-~0091-0 | "7V v Hi— 2

9-19 V20126-080200 IHFE HALb 12 [M8x20

9-20 V40116-000800 S.W 12 (M8




Fig. 10

702 b kT4 7RK

Ekﬂ#%l‘é‘ﬁxﬁzn—b“ & ;M;ﬁ % | W
10— 1 1444-410-0010-0 | F34 7 v+ 7} 1

10- 2 V70414-002000 Crzg +29(w7) 2120

10- 3 1421-134-0190-0 | # » 7V ¥ 7 2

10- 4 1444-410-2000-0 | -4 7 (A) COMP 1

10— 5 1444-410-2100-0 | 24 7 (B) COMP 1

10- 6 V72010-350360 "oty vy 1{P36

10— 7 V72010-350340 "or Yy v 1|P34

10- 8 1444-410-0020-0 | 75 v 7 1

10- 9 V20126-080300 apE FEab 1|M8x%30

10-10 V30026-000800 F v b 1|M8

10-11 V40116-000800 S.W 2 | M8

10-12 V20126-080160 aHF & Hab 1|M8x16

10-13 1444-411-2001-0 | << t=zv SET 1

10-14 e X~ K=V (8) 1 N
10-15 e N~ Fy— (38) 1 a
10-16 1444-411-0011-0 | <~ »r—2=A 1

10-17 1444-411-0020-0 | A5 A2+ #35—(R) 1

10-18 | V74412-035080 | #Ar w—n 1| 2EL95549,
10-19 V72010-350350 oL I 4 1lp3s

10-20 V72010-570650 "oty v 1{P65

10-21 1491-203-0050-0 | R. B . B 1/6305R-6

10-22 V60011-060040 R.B.B 1{6004

10-23 V70514-006200 CHg +A7(77%) 1(62

10-24 V70414-002500 CHs +Av(v7) 1{25

10-25 1444-411-0030-0 7 A F L 2

15




RES

B & o — K

10-26
10-27
10-28
10-29
10-30
10-31
10-32
10-33
10-34
10-35
10-36
10-37
10-38
10-39
10-40
10-41

=
3

1444-411-0040-0
1444-411-0050-0
V20126-080200
V40116-000800
1427-432-0020-0
1444-411-0060-0
1427-432-0030-0
1427-301-0050-0
1427-432-0040-0
1427-432-0050-0
1427-301-0080-0
V52110-080300
V52110~080160
V20146-080250
V60011-060080
1444-411-0070-0

a0 £ 53] ® I3 £

S| F

v & (A) 8| 1=02

v 4 (B) AR| =01

IaHE Eat 81 M8x%20

S. W ) 8 | M8

Zavtr F7 o oy-—=A 1

F7 E=Fv LT h 1

F7 E=4v(11) :

E=4v A52+ H5-— 2

F7 A F Fv—(15) 2

AZAF HAF5—(30%x45x%x1) 2

=9V N2 FHx 2

~4 a3y v (B) 1|8%30

~4 a3y v (B) 1(8x16

aFE  Hit 4| M8x25 (9T)

R.B.B 26008

55— (25%36x3) 1

16



Figll

TrAF A —RE LV T 97T - LR

3

Rtﬂ%%‘]‘éﬁ&::—ﬁ‘ ) % fFiﬁ %
11- 1 1444-413-2102-0 [ 7y A4+ # —=A(B) COMP 2

11- 2 1421—433—0141-0 | e =+ 7, v 2 (50x55%30) 2

11- 3 V61011-511060 ~AAY RAFZAF(vIa) 2|51106

11- 4 1488-413-0231-0 | v 7 v * —n 2 | QLN5068914.5
11- 5 V76140-000000-0 | 7V X =, 7 2|A-PT1,/8
11- 6 1444-413-0111-0 | F5 5 2 7—a (L) 1

11- 7 1444-413-0121-0 | ¥y 7 7-— 4 (R) 1

11- 8 1421-433-0161-0 | =% 75 2 (30%x34x20) 2

11— 9 1421-433-0310-0 | #4 v—n 2

11-10 1421-951-0080-0 | ~ 4 (B) (05) AR

11-11 1421-951-0090-0 | ~ & (B) (1.0) AR

11-12 V20146-100250 axE Fat 8 [M10x25 (9T)
11-13 V40116-001000 S.W 8 [M10

11-14 V52010-100220 ~4ay v (A) 210x22 (H7)
11-15 1444-413-0131-0 | N~ F¥—(16) 2

11-16 V60011-062050 R.B.B 2(6205

11-17 V70514-005200 CHae +A7(77) 252

11-18 1421-201-0030-0 | 52 <~ —su 2

11-19 1444-413-0151-0 | <~ v — (44) 2

11-20 1421-433-0220-0 | A+ 57 Vv 4

11-21 1421-433-0230-0 | A5 A+ H7— 2

11-22 V60011-063070 R.B.B 216307

11-23 V60011-062060 R.B.B 216206

11-24 1421-433-0241-0 | kA o x 7+ HA— 2

11-25 V52010-080220 ~4 a2y v (A) 4 [8x22

17

Cﬁi(’




RHES

|

11-26
11-27
11-28
11-29
11-30
11-31
11-32
11-33
11-34
11-35
11-36
11-37
11-38
11-39
11-40

V78110-000080
V20126-100250
V40116-001000

V50015-300200

B & 3- K &t % s |7 ol s i 2

TEEIx S5 4| PT1,2

IHAE  Fa b 16| M10x25

S . w 16| M10
1446-413-0020-0 | #4142 5 F (L) 1
1446-413-0030-0 | # 4 = 5 F (R) 1
1421-403-0010-0 | =252 . 2| M17 P=15
1421-403-0020-0 | = 2h 27 F, b+ (esFY H) 2| Mi17 P=15
1421-400-0540-0 | = , ¥ = ¥ (L) (R) ASSY 2
1421-400-0550-0 | = » ¥ =+ F(R) (L) ASSY 1
1444-404-2100-0 | = , F = F (R) (L) ASSY 1
1404-402-0010-0 | o £} H.{— 4
1421-403-0030-0 | o F 4 5 AL F 5 F 4| M12 P=125

e 7Yy v 4] 3x20
1404-402-0050-0 ] ¢ 7D R =, 71 3174 S®
1432-406-2120-0 | e sV 2 =, 7nr 1| B-M6F P=1.0

18



Fig.12

70> bk4 LEAE (ST)

RHES | &3 - F & % Sﬁﬁ; i) ®
12- 1 1415-411-0010-0 | 7o v} HAL HFX 2

12- 2 1411-411-0020-0 | kA4 F4 » 7 2

12- 3 V20026—-060120 F b 6 M6x12

12— 4 V40116-000600 S.W 6 M6

12- 5 1411-411-0030-0 | <y F vV 2

12- 6 1404-411-1000-0 7wt HwAA Y a COMP 2

12- 7 V88815-500150 24 2 5.00-15 4PLY
12- 8 Vg8900-500150 Fa—=7 2 5.00-15

12- 9 V99930—-000100 a2Ax AT Fixo 7 2

12-10 V20126-120250 aHE Fwb 8 M12x25
12-11 V40116-001200 S. W 8 M12

19




Fig.13

70 bR4ILEER (FR)

BHES | & 22— F & = smi ) ® ] 4
13- 1 1447-417-2200-0 | s 7= ¥} s&AA Va4 COMP 2

13- 2 1447-417-2120-0 | & 24 % 2|7-16-4PR J,r_.,

13- 3 V99920-000300 cEAY SAT Fayou T 2 |{JISD4212CLE i

13— 4 1447-417-2110-0 | o 54 % 1|7-16-4PR RIRE A
13— 5 V99930-000100 e ZAY AnT Faxy7 1[J1SD42124A } BS

13— 6 V20146-120250 amg AErd 12 [M12x25 (9T)

13- 7 V40116-001200 S.wW 12 |M12

13— 8 1444-413-0140-0 | skA L 4 7 b 2

13- 9 | V74215-072090 | +4 1 v—n 2 [PGRE81EQ,

13-10 V74415-072120 AN v—n 2 | AB2864 A0

13-11 1444-413-0170-0 | v— A 75 ¥a o | (TC07212)

13-12 V72010-570400 oty vy 2 | P40

20



Figlda XT7Y>L45KA4—-LEE

& T

Sy T——p A:
N N 4
SN

R & % sm; .
14— 1 1421-400-0520-0 | AF 7V V7 HAN 1] 1

14— 2 1407-406—0020-0 | s AFT7 I VT F4 o7 1] 1

14— 3 1407-406-0040-0 | e F 4 » 7 2y FV 1{ 1

14- 4 V32126-001000 sV F Fe b (FA) 1| 1|M10 P=125
14— 5° V50015-200250 7Yy ¥V 1| 1|2x25
14- 6 V41316-001000 FiwA FHF 1| 1{M10
14— 7 1444-406-2001-0 | ¥ 7V v 5 < %7+ ASSY 1|1

14— 8 V20126-080300 apg g Hart 3| 3|M8x%30
14— 9 V40116-000800 S .W 31 3{M8
14-10 1444-406-2202-0 | A7 79 v 7 HAF+ COMP 1l 1

14-11 V20126-080160 aHE FAt 1] 1|(M8x16
14-12 V40116-000800 S . W 1] 1|M8
14-13 1444-406-2600-0 | ¥+ 7+ &% ASSY 1|1

14-14 e~y 7 b kg COMP 1|1

14-15 1444-406-0010-0 s 7y a ' 21 2

14-16 1444-406-0020-0 | 4L v—n 2| 2

14-17 V20126-100200 ayE FErb 2| 2[M10x20
14-18 V40116-001000 S. W 2| 2|M10
14-19 1444-406-2400-0 | A7 79 v 7 47 COMP 1] 1

14-20 1444-406-2500-0 | -S4 7 A& COMP 1] 1

14-21 V60015-060030 R.B.B 1| 1/6003SS
14-22 V70414-001700 CHra +r9(27) 1y 117
14-23 V70514-003500 CHg +429(7%) 11 135
14-24 1444-406-0030-0 | ~¥ ¥ 7y va 111

14-25 1444-406-0040-0 | 7 » ¥ 2 v =& (A) 111

21

4




=
33

BHES B & -~k &h s [ 7 >l p o
11-26 T4 -406-0050-0 | 7 » >+ (11x20%45) 2] 2
14-27 V20126-100200 IHE Fat 21 2| Mio~20
14-28 V40136-001000 S.w 2| 2| Mo
14-29 1444-406-0060-0 | 7 » > 5 v = 4 (B) 2| 2
14-30 1444-406-0070~0 | 7 » v (11x32x4) 21 2
14-31 1421-101-0010-0 | £+ (M10x42) 2| 2
14-32 V41316-001000 F i FHE 2| 2 |Mio0
14-33 V32126-001000 VIR FL b (FA) 21 2|M10 P=1.25
14-34 V50015-200250 79 v 2| 2] 2x25
14-35 1444-406-0090-0 | A5 7V vy F—= 11
14-36 1444-406-0110~-0 | =Y HaAsx 111
14-37 V11116-600120 TSA FAN aFjy 2| 2 {M6x12
14-38 V40116-000600 S.w 21 2 |Ms
14-39 V41316-000600 FIizwA FHF 2| 2| M6
14-40 1444-601-0090-0 | 7 » v a v =4 (R) 4| 4
14-41 1444-601-0110-0 | 7 5 >+ (9%24x%1.6) 2| 2
14-42 V20126-080300 a¥FE Enrb 2| 2 |M8x30
. 4-43 V30226-000800 F 5 b 4 [ 4 | M8 (3f)

22



15

RHES & 22— K &R % S{Eﬁ 3] = 1]
15— 1 1507-201-0010-0 | 7o vb §»vav ¥ —2A 101

15— 2 | V25144-120250 vzas Erb 2| 2 |Mi2325 (9T)

15— 3 V30346-001200 aHE Fob 2| 2{M12 (7TT)

15— 4 V20146-120500 ax s HEab 1| 1|{M12x50 (9T)

15— 5 V20146-120300 axsx Ert 5| 5| M12x30 (9T)

15— 6 V40116-001200 S. W 8| 8 M12

15— 7 1427-317-0040-0 | A 7 7t (M14) 6| 6

15— 8 1326-706-0020-0 | FLrv Z357 1] 1

15— 9 V74412-535060 FAR v—n 2] 2 '{g%%ggg(}o)
15-10 1444-201-0020-0 | H-5— 1] 1

15-11 V20126-080120 akg HEak 31 3 1M8x%x12 }Gzﬂli?ﬁrﬁ
15~-12 V40116-000800 S.W 3| 3|Ms8

15-13 1444-201-0030-0 | ¥~ —n (42) 1

15-14 1444-201-0040-0 | v ~<a ¥ =2 1] 1

15-15 1444-201-0050-0 | ¥ — v 47 1] 1

23




Fig.16

70> b3y arFy—/k (1)

(C , HA)

4
Etﬂ%%l‘éﬂﬁ‘nn—k‘ &h £ szi A % %
16— 1 1507-206—0010-0 | A v F s b+ AZA(vvIn) 111
16— 2 V72010-105715 "y vy 1{1]|P150
16— 3 V74413-045080 FA L v—n 11 1|TC30458
16— 4 V20126-100200 aHE Erb 4| 4 |IM10x20
- 16— 5 V40116-001000 S.W 4| 4 {M10

6— 6 V52010-080200 ~4 2y v (A) 111 |M8x20 (H7)
16- 7 1507-206-0020-0 |4 v 7 » b F¥—(21) 111

16— 8 V60011-062060 R.B.B 11116206

16— 9 V65331-622160 =—Fa(var 78F) 1| 1|TLA1616
16-10 1444-207-0030-0 | At » % 1] 1

16-11 V20126-080140 axE Ertb 2| 2 |M8x14
16-12 V40116~-000800 S . W 2| 2 M8

16-13 1444-213-0010-0 | -X» 2 F+— (28) 1|1

16-14 1444-213-0020-0 | ~+ 7 + 1] 1

16-15 1365-707-0030-0 | »3—(20%x34x3) 1|1

16-16 V70414-002000 CHg +A7(27) 11|20

16-17 V65442—-026170 =—Fr(r—o) 1 1 |KT202617
16-18 V70414~003000 Crg +r297(22o) 1] 1 {30

24



Fig.17

7O byl aFY -k (1)

(GR)

8 &
RHES B a4 d-— K T % s r 18
17— 1 1507-207-0010-0 | A v Z 5 b AZA(FT1L) 1| 1
17— 2 V72010-571500 "' Yy 1| 1|P150
17— 3 V74413-550080 FANL - 1| 1|{TC35508
17— 4 V20126-100200 aFE HEAP 4| 4|M10x20
17— 5 V40116-001000 S.WwW 4| 4|M10
17— 6 ¥52010-080200 ~A a7 v (A) 1| 1|M8x20
17— 7 1507-207-0020-0 | 4 v 75 b F¥—(21) (A) 111
17— 8 V60011-062070 R.B.B 11116207
17- 9 ¥70414-003500 CHz +r7(22) 1| 1|35
17-10 1507-207—0030-0 | <7 Vv s Az 1] 1
17-11 ¥74413-045080 AN - 1) 1(|TC30458
17-12 V74413-550080 AN T 1] 1|TC35508
17-13 V20126-080700 aHE AP 2| 2 [M8x70
17-14 V20126-080450 IaFE FEab 21 2|M8x45
17-15 V40116-000800 S.w 4 | 4 |M8
17-16 V52010-080200 ~L 29 v(A) 11 1|M8x20
17-17 1507-207-0040-0 | A v 75 b F+—(21) (B) 1|1
17-18 V60011-062060 R.B.B 1| 11(6206
17-19 \V65331-622160 =—Fr(van 7525+v) 1{1|TLA1616
17-20 V70414-003000 CHE +x9(z2) 111 lag
17-21 1144-207-0030-0 | A b » % 1] 1
17-22 \V20126-080140 IFE ELF 2| 2 iIM8x14
17-23 V310116-000800 S.w 2 1 2 |Ms
17-24 1507-207-0050-0 | PTO 74 Fa Z+—(30) 111
17-25 1507-207-0060-0 | >+ 7} 101

5% ]
th




RHE=S B a3 - K h S 3] - i x
17-26 1507~207-0070-0 | R . B. B 2| 2

17-27 1444-213-0010-0 | ~%» 7 ¥ ¥ — (28) 111

17-28 1444-213-0020-0 | ~+ 7 } 1] 1

17-29 1365-707-0030-0 | #5—(20x34x3) 1|1

17-30 V70414-002000 CHE + A7 (27) 111120

17-31 V65442-026170 =—Fr(r—v) 1} 1|KT202617

26



J0> bIyiaFY-—F (2)

(C, HE)

l A &

BHES | &3 - F & ST r B B =
18— 1 1444-208-0010-0 | ¥=v v 7} 1)1 (oF.)::!
18— 1-1| 1444-209-0010-0 | F¥F=v¥ <+ 7} 141 HEA
18— 2 1421-134-0190-0 | #» 7 Vv 7 1|1
18— 3 V60011-063040 R.B.B 1116304
18— 4 1444-208-0020-0 | ¥=v v F+¥—(25) 1)1 CHA
18— 5 1444-208-0030-0 | ¥=v F¥—-(29-24) 1|1
18- 6 V60711-063040 R.B.B(txr7 v=*x) 1| 1|6304NR
18— 7 V70414-001900 CHa +ta9(27) 1(1]19
18— 8 1444-209-0020-0 | A7 54 v ~7(42) 272
18— 9 1444-209-2100-0 | ~4 F+¥— (25) COMP 11 HEA
18-10 1444-209-2200-0 | = — ¥ —(29) COMP 1)1
18-11 1444-209-2300-0 | v 7 F+v—(24) COMP 111
18-12 1444-209-2000-0 { v v 2 ® 452 ASSY 2| 2
18-13 1507-211-0010~0 | ¥+ — (30-26-22-22) 101 CHA
18—13—-1 | 1507-212-0010-0 | ¥v— (30-26-22-22) 1|1 HERA
18-14 1491-203-0050-0 { R. B . B 1)1
18-15 V60011-063040 R.B.B 1116304
18-16 1444-211-0020-0 | & b 5 -2 11
18-17 V20125-080160 axE  FaAt 24 2 M8x16
18-18 V40116-000800 S.W 2| 2 (M8
18-19 1507-215-0010-0 | =+ 7 F (A) 111
18-20 1507-215-0020-0 | ¥S54 7 Fv—(32) 111
18-21 V60011-063040 R.B.B 1716304
18-22 V70414-003000 CHsg +arv(z2) 21 2130
18-23 1444-215-0030-0 | » — - (352) 1471

i

L




Etﬂ#%“%ﬁrﬁxl—h“ T % H

S| F
18-24 1414-120-0060-0 | # » ¥ UV v 7 (36x%62) 1|1
18-25 1503-215-0010-0 | ~+ 7 b 1] 1
16-26 V60011-062050 R.B.B 1{ 1|6205
18-27 V70514-005200 CHs +AD(T7F) 1| 1|52




Fig.19 70>F3Iv>aXv—ME% (2) (GR)

13

Rtﬂ&%l%ﬂu‘a:—lf &h s{mi R L
19- 1 1444-209-0010-0 | #=vz Y+ 7%t 14 1
19- 2 1421-134-0190-0 | #» 7 Vv 7 1] 1
19- 3 V60711-063040 R.B.B(raA7 v*) 1| 1|6304NR
19- 4 V70414-001900 CHa +27(v2) 1} 1]19
19- 5 1444-209-0020-0 | AF 54 v ~7(42) 2| 2
19- 6 1444-209-2100-0 | ~4 #¥—(25) COMP 1] 1
19- 7 1444-209-2200-0 | = — F+¥—(29) COMP 111
19- 8 1444-209-2300-0 | -*» 7 #-¥—(24) COMP 1] 1
19- 9 1444-209-2000-0 | ~v7®m A2 ASSY 2| 2
19-10 1444-212-0010-0 | # ¥ — (31-26-22-22) 101
19-11 1491-203-0050-0 | R. B . B 1| 1]6305R-6
19-12 V60011-063040 R.B.B 1| 1[6304
19-13 1444-211-0020-0 | A b v 3 1)1
19-14 V20126-080160 axg HEAb 2| 2|M8x16
19-15 V40116-000800 S . W 2| 21M8
19-16 1507-216-0020-0 | ¥+ 7 F (A) 111
19-17 1507-216-0010-0 | F54 7 v —(32) 1|1
19-18 1446-216-0020-0 | ¥+ 7 F (B) 1( 1
19-19 1507-216-0030-0 | #5— (20%x30%x11) 1| 1
19-20 V60011-063040 R.B.B 1} 16304
19-21 V60011-062050 R.B.B 1] 16205
19-22 V70414-002500 Crg rr9(27) 2| 2|25
19-23 V65331-622160 KA (van 7EFV) 1] 1|TLA1616
19-24 1444-215-0030-0 | ¥ —n(52) 1] 1
19-25 V70514-005200 Cra +A27(77) 1] 1|52

29




RH&S

MBS a - kK

i

19-26
19-27
19-28
19-29
19-30
19-31
19-32

1446-216-0031-0
1446-216-0040-0
1507-216-0041~-0
V70414-003000
1446-216-2000-0
V20126-080350
V30226-000800

a
Ga s r R i 3
A B 1| 1
#5—(32%64x%x5) 11 1
#5—(25x32x3) 1|1
CHx rtro () 1] 1130
PTO 75,5 AS8SY 1] 1
aKE Eat 1] 1|M8x35
F o, b 1 1 (M8 (3%8)

30



F T

> 2L N - Bk

BHES | & 2 — K & £ szi R ]
20- 1 1444-218-0010-0 | F¥=v H - 1] 1
20- 2 V20126-080220 aHE HErb 2| 2|M8x22
20— 3 V20126-080400 aH & HErt 2| 2|M8x40
20— 4 V40116-000800 S.W 4| 4|M8
20- 5 V41316-000800 FiwN FHF 4| 4|M8
20— 6 1444-218-0020-0 | F=vy v/ 111
20— 7 1444-218-0030-0 | 7v o vy AZY 7 (34) 111
20— 8 1427-207-0050-0 | A 7Y v & HAF 101
20- 9 1403-207-0010-0 | F=v ¥ v.i—- F—7 101
20-10 1414-207-0050-0 | v-i— 7 (48) 1]1
20-11 V58014-050400 ALYV V(W) 1| 1]5x%40
20-12 1444-218-0040-0 | F=v HA ¥ 1|1 CHEA
20-12-1 | 1444-219-0010-0 | F=v #AF 1|1 H, GHAE
20-13 1402-501-0170-0 | =2 h 7 Hrt 4] 4 '
20-14 V40116-000600 S.w 41 4 M6
20-15 V59013-093500 F ey 1| 1109x350
20-16 1444-218-0050-0 | 728 A5 —(A) 1|1 CRA
20-16-1 | 1444-219-0020-0 | v 74& AF— 2| 2 H, GRA
20-17 1444-218-0060-0 | ¥ 74 A5 — (B) 141 cmm
20-18 1444-218-0070-0 | v 7 % 2| 2
20-18-1 1444-219-0030-0 7 2 2 H, GRAE
20-19 1302-225-0030-0 | >748 =AFV vy 212
20-20 V68020-000100 AF - HE—-n 21 2|5/16"
20-21 1407-201-0110-0 | a2 =2z Ah s Hib 41 4
20-22 V40116-000800 ! S.wW 4| 4 M8
,
1

31




RHES

T

20-23
20-24
20-25
20-26

V59013-091800

V40116-001000
V41316-001000

B & a3~ K & A iR % 1 %
S| F
Toev 21 2]09%x180
1444-218-0080-0 | ¥ —= #a } 2| 2
S. W 2| 2 M0
FI= FHF 2 2 [ M10

32



Fig.21

26-1

78> b EF54 7 8F

#
GuEs | W&o - K | & ;EFﬁ "
21- 1 1444-309-0011-0 | -%4 7 (176) 1
21- 2 V60011-160070 R.B.B 116007
21— 3 1507-309-0010-0 | v — (20-23) 1
21— 4 V60011—-060070 R.B.B 116007
21- 5 1447-311-0010-0 | F=vv F+v—(28) 1
21— 6 1507-311-0010-0 | F5A4 7 47} 1
21— 7 V60011-060040 R.B.B 216004
21- 8 V70414-002500 CHag b+2r9(27) 125
21- 9 | ¥74012-042100 |FAn v—n 1 {P58%8248,,
21-10 1444-312-0010-0 | £A 1
21-11 1302-225-0030-0 (v 7& AFY vy 1
21-12 V68020-000100 AF—NL HE—i 11(5/16"
21-13 V20126-080200 axF HEab 4 |M8x20
21-14 V40116-000800 S.W 4 |M8
21-15 1444—312-2000-0 [~ 7% COMP 1
21-16 V72010-240100 "oy vy 1 |P10A
21-17 1444—-312-2100-0 |7+ 7—24& COMP 1
21-18 V58014-060250 ATV vy Ev (W) 1 (6%25
21-19 v59013-090900 R % 1 {0.9%x90
21-20 1444-312-2200-6 | =5 F COMP 1
21-21 V41316-000800 FIwA FHF 2 M8
21-22 \'50015-200160 7y v 2 |2x16
21-23 \'70514-004200 CHE +A29(7%H) 1 (42

33




Fig.22

7 T v

F R &Y LM &

RHES &S -—- F an % Sﬂﬂiiﬂ B =3
22— 1 1507-122-2001-0 | #55F < +7t SET 1] 1

22- 2 * 7% 5% v+ 7F COMP 1 1

22- 3 «3—y 1)1

22— 4 1404-101-0010-0 | 75, F =2—27 F—, v 1] 1

22— 5 V59013-121500 R 4 1] 1]12x150
22— 6 1444-122-2201-0 | 75,5 <% COMP 1] 1

22— 17 V20126-080250 axx HEab 1] 1|M8x25
22- 8 V30126-000800 P 1| 1]M8

22- 9 V20126-100250 aHE HAL 1] 1|M10x25
22-10 V30226-001000 F o b 1| 1|M10 (3%)
22-11 1444-122-2301-0 | 75,5 =, F(A) COMP 1] 1

22-12 1507-122-2200-0 | 73+ % =, F COMP 1] 1

22-13 1444-122-0020-0 | #—v o5 74 (M8) 1|1

22-14 V30226-000800 + ot 1] 1|M8 (38)
22-15 1401-122-0050-0 | #» P (&Y H:) 1] 1|M8 (3%)
22~16 3737-235-0080-0 | F=vi0 g4y v 2| 2

22-17 V41316-000800 FIiwA FHF 2| 2{Ms
22-18 V50015-200180 7Y v 2| 2|2x18
22-19 1444-122-0040-0 | 77U R =, 71 2 2

22-20 1403-312-0030-0 | A—=%v sy 7Tiv—% ATV 101

34



Fig.23

77y

IHES & a-— K an EA S{Eﬁ; b3 ) |
23— 1 1445-120-2000-0 | #5 » ¥ (225) ASSY 1] 1

23— 2 1445-120-2010-0 | # 75 » 5 54 A2 (225) 1|1

23- 3 * VT 55 HA— 101 VaN
23- 4 1415-121-0090-0 | ¥ —= Hai b (M8x25) 41 4

23— 5 V20126-080250 ay g HErb 6| 6|M8 GHIIT~H
23— 6 V40116-000800 S.W 111

23— 7 1507-120-0010-0 | AV —7 1|1

23- 8 1445-120-0020-0 | #7725 VV—X X7y vy 20 2

23— 9 1432-120-0040-0 | ¥ v~ a v AZY v (31) 2| 2

23-10 1507-121-2000—0 | £ 3F=7A 235 55(225) ASSY | 1| 1

23-11 1507-121-2010-0 | * 75y F F 4 A2z (225) 1|1

23-12 © 75 4 F Hoi-— 1] 1 PaN
23-13 1415-121-0090-0 | ¥ —= Hai b (M8x25) 2| 2

23-14 V20126~080250 axE FErt 4| 4|M8x25 Yetil)::!
23-15 V40116-000800 S.W 6| 6|Ms

23-16 1507-121-0010-0 | A Y —7 1] 1

23-17 1415-120-0040-0 | 75, ¥ vV —-Xg~= vIsvy 11

23-18 1507-121~0030-0 | AV —F ATV V7T 1(1

(

m—

¢




RHgs | & 13 - K LT Ik 18 Ve 3
24— 1 1444-102-2000-0 | 744+ % =2, 7 ASSY 1] 1

24- 2 1415-102-0090-0 | o » » 7 1] 1

24- 3 1444~102-2040-0 | eV v 5 1] 1

24— 4 V72010-100440 o NO" Vv 1] 1|P44

24— 5 1415-102-0110-0 | s = v 4 v } 1} 1

24- 6 1415-102-0120-0 | s =7 — %% 354 2| 2

24- 1 1415-102—0130-0 | e -3, %+ 2| 2

24- 8 V20126-080650 ax s Hab 1] 1|M8x65

24— 9 V40116-000800 S.w 1] 1]Ms8

24-10 1444-102-0010-0 | 7 2 — = .34 7 (A) 1] 1 BYTT 4 A 4B
24-11" 1480—105—0010-0 | 7o —=n .1 #(A)(7x11%x300)| 1| 1 AP W SRR
24-12 1444-102-0030-0 | f— 2 {v ¥ (10) 4| 4

24-13 1444-102-0040-0 | 7a—=A UVE—v .IfF 1] 1

24-14 1444-102-2100-0 | =y # A5 — COMP 1|1

24-15 V20126-080160 IHE HEab 2 2|M8x16

24-16 V40116-000800 S . W 2| 2|M8

24-17 1444-111-2000-0 | 7a—=A & v s COMP 1 1

24-18 1407-111-0010-0 | ¥*# % (8x12x2) 1] 1|M8x12

24-19 V20026-080120 Fab 1|1

24-20 1421-111-2100-0 | #+ » 7 ASSY 111

24-21 1444-111-2200-0 | # v 2 1w ¥ (A) COMP 111

24-22 1444-111-2300-0 | 2 v 7 v F (B) COMP 111

24-23 V30326—-000800 IHE F oy b 31 3[M8

24-24 V30526-000800 TIHE Foy b 31 3 |M8 (3%8)

24-25 1444-111-2400-0 | ¥+ Fuv—F COMP 11

36



Fig.24

7 a x L A

7 M &

Eﬁiﬁ%lﬁﬁcﬁ.:—h“ & % fﬁ 5 ®
24-26 V20126-080160 aFy & Hur 2] 2|{M8x16
24-27 V40116-000800 S.wW 6| 6|M8
24-28 V30026-000800 F 5 b 4| 4|Ms8
24-29 V20126-080250 axg FEat 4| 4|M8x25
24-30 1444-604—2600-0 | #-— Zur—1t (L) COMP 1] 1
24-31 1444-604—2700-0 | #-{— Zv—1t (R) COMP 1] 1
24-32 1444-621-0070-0 | 7o ~x=1 ¥ — 11
24-33 V20026—050100 A b 5| 5|M5x0.8x%x10
24-34 1444-601-0260-0 | 7y~ s v =T (20%x20x1) 1)1




Fig25 = B v b+ L B 1k

£
12 &
13
10

RHES | 8 & 30 — F & % ;mﬁF ) B 1
25— 1 1444-116-2000-0 | 77 =g, COMP 1l 1

25— 2 V50015-300180 7y v 1] 1]3x18
25— 3 V41316-001000 F I FHE 1{ 1[M10
25— 4 1507-116-0010-0 | 77+tA 2% 74 1] 1

25— 5 V50015-200180 7y €V 2| 2|2x18
'5— 6 V41316-000600 FIiwL FHi 2| 2|Ms

25— 7 1444-116-0020-0 | Fv>av A7V vs(90) 1{ 1

25- 8 1507-116-2000-0 | 77+A 77— COMP 1] 1

25— 9 1444-116-0030-0 | 72+ a ., F(A) 1f 1

25-10 1444-116-0041-0 | 7271 =, F(B) 1] 1

25-11 1421-116-0020-0 | M6 &—v S, 70 11 1

25-12 V41316-000600 FiwA FHx 2| 2[Msé
25-13 V50015-200150 7Yy v 21 2l2x15
25-14 V30026-000600 F v b 1| 1|Ms6
25-15 1507-116-2100-0 | sk A # COMP 1| 1

25-16 V20126-100200 aHR EAP 2| 2|M10x20
25-17 V40116-001000 S.w 2| 2|M10
25-18 1507-116-2200-0 | 7— & COMP 1] 1

25-19 1444-116-0060-0 | 54 =v & 24( 2

25-20 1444-116-0070-0 | 7 v+ (11x30x2) 2| 2

25-21 1444-116-0080-0 | vy >+ AFYUvs(30) 1] 1

25-22 ¥30226-001000 > b 21 2(M10 (3%&)
25-23 1507-116-2300-0 | v-i— COMP 1(1

25-24 V58014-060320 AZY VY Erv W) 1| 1]25%x30
25-25 1432-117-0010-0 | v.i— /7 10 1

25-26 V59013-101400 F oy 1| 1|1.0%x140




ik d
BHES | & 3 — F &h sl r R R’
26— 1 1507-301-0010-0 | ¥+ 3o, av ¥r—A 11
26— 2 | V25144-100280 | v==3 3 il o o Y833%%m
26— 3 \'?5144_121300 AT :l':/l/b 81| 8 I&%gl%gﬁ)
26— 4 V52010-100280 ~A4ay ¥v(A) 4| 4l10x28
26— 5 | V25144-121600 vxa 3 Hb 2| 2 (M32Y1 90,
26— 6 V40116-001200 S.W 10 |10 |[M12
26— 7 V30346-001200 aHE Fy b 10 (10 [M12
26— 8 1444-301-0021-0 | #-3— (A) 111
26— 9 V20126-080200 axE Fatr 4| 4 [M8x20
26-10 V40116-000800 S . W 4| 4 (M8
26~-11 V78110-000060 Ta=vE F57 1] 1|PT3/8
26-12 1444-301-0030-0 | »-{—(B) 1
26-13 1444-301-0040-0 | A= Ay FV 1
26-14 V20126-080160 aHxE EAb 4 M8x16
26-15 V40116-000800 S.w 4 M8
26-16 V41316-000800 Fiwa H¥HF 4 M8
26-17 1444-317-2002-0 | v ¥ — ey F COMP 1] 1
26-18 1444-317-2102-0 | b v—35 v 55 COMP 1] 1
26-19 V20146-140350 24 & HEaAt 8 | 8§ |M14%x35 (9T)
26-20 Vig116-001400 S . W 8 g vy 4
26-21 1444-317-2201-0 | = ¥ #H-<i—= COMP 1] 1
25-22 \'20126-080100 ax & FEAL 4] 4 |M8>10
26-23 V410116-000800 S . W 4| 4 (M8
26-21 14i4-312-2300-0 | v-{— COMP 1
26-25 1432-242-0040-0 ! 7V » 7 (B) 1

W
0




{8 %

REES =T NN ) % S| b} % 1] x
26-26 V20126-100700 IHFE HEab 1| M10x70

26-27 V30226-001000 F oy b 1{M10 (3%)

26-28 1446-301-0010-0 | R~ —- 1|1

26-29 1402-921-0010-0 | P L—5 v 1] 1

26-30 1401-520-0090-0 | 22 <A F5451F v U or 1{ 1

26-31 1421-502-0020-0 | V vy v 1] 1

26-32 1427-317-0040-0 | 475t (M14) 41 4

40



RHES | & 10 — K AR # ;@ﬁ; # % ]
27— 1 1446-304-0010-0 | ¥+ — (12) 1] 1

27— 2 V60711-062060 R.B.B(trv v=*) 1| 1{6206NR

27— 3 V70414-003000 Crsz trarv(vs) 1| 130

27— 4 V65331-622160 == Falv=n 72+2) 1| 1|TLA1616

27— 5 1507-304-0010-0 | &+ 7 b 1] 1

27— 6 1507-304-0020-0 | A5 x+ #35— 1|1

27— 1 1507-304-0030-0 |=v bt =amy vy 1] 1|NJ304

27— 8 1507-304-0040-0 w7 <47 b 111

27— 9 V65442-430200 =—=Fr(r—yv) 1| 1|KT243020

27-10 1507-304-0050-0 | =— FaA(r—=) 1] 1

27-11 V70414-004200 CHxr brav(v2s) 1] 11042

27-12 1507-304-0060-0 | F¥=v F+v— (34) 1|1

27-13 1507-304-0070-0 | F=v F¥—(31-21) 141

27-14 1507-304-0080-0 | # -+ — (20) 1|1

27-15 1444-306-2001-0 | ~~<r SET 1|1

27-16 1507-306-0010-0 |5 Y v & #+—(36-14) 1|1

27-17 V65442-428130 ==Frn(r—-—uo) 2| 2|KT242813

27-18 1507-306-0020-0 | # 7Y & ¥+~ (36015-25) 1 1

27-19 V65442-428130 ==t (r-—) 1| 1[KT242813

27-20 V65442-530130 =—Fr(yr—-) 11 |KT253013

27-21 1507-306-0030-0 | ¥+ — (27) 101

27-22 1444-306-0040-0 |=v+Y 38220 iy 1 | 1 [NUP2206R

27-23 1444-306-0050-0 | FIA4 7 ¥E=xv szn 11 CRA
27-23~1 | 1444-306-0120-0 F347 ¥Y=Fv 22z 1 H, G#
27-24 V20146-080200 axF Hab 4 | 4 |M8x20 (9T)

g
el




RtiE=S M& a2 - K gh % s | r 557) B fim %
27-25 V40116-000800 S.w 1] 4[M8

27-26 V744313-045080 FAN —p 1 TC30458 , 1, 6w
27-27 1444-306-0060-0 | « & (A) 4| 4

27-28 1444-306-0070-0 | » & (B) AR | AR

27-29 1507-306-0040-0 | = VA4 aesy 95 1] 1

27-30 1507-306-0050-0 | = v XA 3wy Y& (dd31) 1|1

27-31 1430-203-0060-0 | #»5— (20%x40x%3) 1] 1

27-32 1444-306-0090-0 | =5 7 94 >4 (M20) 11 1

27-33 1444-306-0110-0 | #+» +F (M20) 2| 2

42



Fig28 4 7 5. L N - B1E

%6 252039
g 2605 27 282’9

I

; I
@

i— 2671 ‘\\;x @\Q@
| i ///!quz) I
Pt . >
Q}\/{Bi\ J\]IG/ TN
S Y
17 g ’
Y ) — @ \\ |
]l_&?}\\ 18 /  . ;)8/(’ m‘. ol 2
P \ | | g
%(1)__@ \\\ ’@ 1 8 g 15
12 2 : e
7
AHES B&a-F T2 £ Sﬁﬁ; b5} ®
28— 1 1444-307-0011-0 | 7 F=vy Hi- 1)1
28~ 2 V20126-080200 ax & HEat 6] 6|M8x20
28— 3 V40116-000800 S.wW 6| 6|M8
28— 4 V41316-000800 FIwA HFHZ 6| 6|M8
28— 5 1507-307—-0010-0 | 20—~ v 7% AF— 1)1
28— 6 1507-307-0020-0 | +7 7% =RF— 101
28— 7 1444-307-0040-0 | v 7 % 2| 2
28— 8 1302-225-0030-0 | v 7% X7V vy 21 2
28— 9 V68020-000100 AF—N FH—nr 2| 2|5/16"
28-10 1407-201-0110-0 | a# & ®2AH7 HEAt 4| 4
28-11 V40116—000800 S.wW 4| 4|M8
28-12 V59013-100900 F oy 21 2]1.0x90
28-13 1444-307-2000-0 | %7 + 7—4(A) COMP 2| 2
28-14 1444-307-2101-0 | 7 F <4 7+ (A) COMP 111
28-15 1444-307-2201-0 | v7+ ~% 7+ (B) COMP 1] 1
28-16 1444-307-0110-0 |40 v—n 2| 2
28-17 1366-229-0211-0 | m 5 » 2 Ha bt (MEx14) 2] 2
28-18 V59013-090900 Ty ey 2| 2(09x%x90
28-19 1507-307-2000-0 | = » F (A) COMP 111
28-20 1444-307-2400-0 | = , F(B) COMP 21 2
28-21 1444-307-2500-0 | =, 1 (C) COMP 111
28-22 1444-307-0050-0 2—v R, 740 (M1O) 2 2
28-23 130226-001000 + b 2| 2|M10 (3%)
28-24 1401-304-0110-0 | ¥ » F (e &Y % )(M10) 2 | 2
28-25 \41316-000800 F I FH AR 4| 4 |Ms




‘

.

RHES B &S, 3 — K &h #H 7] £
28-26 V50015-200180 7Y KV 4| 4(2%18
28-27 1444-307-2600-0 | 7+ 7— 4 (B) COMP 1] 1

28-28 1415-216-0060-0 akx sz FHat 1 1

28-29 V59013-091500 Ty 1| 1]09x150
28-30 1444-307-2700-0 | ¥*7+ 7—4(C) COMP 1] 1

28-31 1488-237-2200-0 | v~ (A) COMP 11 1

28-32 1444-307-2900-0 | v-<— (B) COMP 111

28-33 V58014—060250 ATV vy v (W) 1| 1[6x%25
28-34 V59013-090900 F oy 1| 1109x90
28-35 1444-307-0060-0 | L-<— s 1|1

28-36 V20126-100250 axyg Fart 21 2|M10x25
28-37 V40116-001000 S . W 21 2|M10
28-38 7956-205-0160—0 | # 4 F+ 5 7(30) 11 1

28-39 1444-307-0070-0 | 77V » 7 2| 2

28-40 1444-307-0080-0 | 7 » v 2 (14x16%x10) 21 2

28-41 V76140-000000 FVA =570 1| 1|A-PT1./8

44



Fig29 P T O 2 , 7 + M 1%

RHES &, -—- F fh % S@ﬁ; R ® i1 %
29— 1 1444-314-0010-0 | PTO <<+ 7} 141

20— 2 1444-314-0020-0 | ¥=v ¥ F¥—(35-28) 1] 1

29- 3 1444-314-0030-0 | #x v F+—(37-32) 111

29— 4 V60711-062050 R.B.B(txrv u=x) 1| 1§6205NR

29—~ 5 V60011-062070 R.B.B 11 1(6207

29- 6 1444-314-0040-0 | #5—(35%43x2) 101

29— 7 V70414-003500 CHE rr7(22) 1| 135

29— 8 1444-314-0050-0 | v —A < 5x. 1] 1

29— 9 V72010-570620 "ov oy vy 1| 11P62

29-10 | V74413-555100 |44 »—n 1] 1 |T533381 %0y

29-11 1444-314-0060-0 | »v v& *F+— (15-21) 1] 1

29-12 1444-314-0070-0 | p ¥ v & Fv¥— (12-17) 1] 1

29-13 V60011-063050 R.B.B 2| 26305

29-14 1444-314~-0080-0 | ~—1 (62) 1] 1

29-15 1414-120-0060-0 | v 7 Vv 7 (36x62) 111 C,HHA
29-15-1| 1446-314-0010-0 | #» 7 D v o (36x62) 141 GEA
29-16 1444-314-0090-0 | PTO v+ 7 bt F4 47 111

29-17 V20026-060120 b 2 2 |Mex12

29-18 V40116-000600 S.w 2| 2 |Ms

20-3i0 V70514~002200 CHz t+xr9(7%) 1) 1fzz2

29-20 1446-314-0020-0 | #5— (26x34%6) 11 }G@m
206-2] 1421-312-0020-0 | 7 5 v 4 (26 x35x1) AR [AR




Fig.30

PTOFxT>2L N —-BE1k

i
REES | 88 &% 2 — K A & S ﬁ; R 1] £
30- 1 1444-315-0010-0 | PTO wv—>7 & 1|1
30— 2 1444-315-0020-0 | PTO ~A 74 1] 1
30- 3 1302-225-0030-0 | ¥74 AFV vy 21 2
30- 4 V68020-000100 AF—N F—n 2| 2{5/16"
30- 5 V50015-300250 7y v 2] 2|3x25
30- 6 1444-315-0030-0 | PTO 74 =A5— 1] 1
30- 7 V72010-240100 "o vy v 1| 1|P10A
30- 8 1444-315-0040-0 | A b 5 -2 1] 1
30- 9 V20126-080160 aFE Erp 1| 1|M8x16
30-10 V40116-000800 S. W 1| 1 (M8
30-11 1444-315-0050~0 | PTO w—F=xvy .i- 1] 1
30-12 1444-315-0060-0 | PTO ~AF=v i 1] 1
30-13 V50015-250180 70 Ev 4| 4125x%x18
30-14 1444-315-2000~0 | = ~> 7+ 7—2x COMP 111
30-15 1415-216-0060-0 | =& Hrt 1| 1|M8x16
30-16 V59013-091500 Fyev 1| 1{09x%x150
30-17 1444-315-2100-0 | PTO 7%t 74 —2s=w— COMP| 1|1 C,HEA
30-17-1} 1446-316-2000-0 | PTO +7F 7 —2w— COMP| 11| 1 GHA
30-18 V72010-240210 "oy s 1| 1|P21
30-19 1444-315-2200-0 | ~4 <7+ 77— COMP 11 C,HEAH
30-19-1 1446-316-2100-0 | ~€4 v 7} F—2x COMP 1] 1 GHA
30-20 V72010-240100 "oy vy 1] 1|P10A C,HfHA
30-20-1 | V72010-240140 "oty vy 1j1]|P14 GRA
30-21 V58014-060280 ATV vT v (W) 1] 1|6x28
30-22 V59013-090900 F otV 1| 1]09x90

46



Fig.30

PTOFxI:

S LN — Bk

AHESE | B & 23— F & # s | 7 51 1] %

30-23 1444-315-2300-0 | PTO <7t 73—27-~4 COMP | 1| 1

30-24 1444-315-0073-0 | PTO F=vy 15— 1] 1

30-25 | 3761-242-0170-0 | Fa¥*a?¥ Favt&y Li- =3y 1] 1

30-26 1444-315-0081-0 | ¢4 7 (15x19x18) 1] 1

30-27 1427-601-0030—0 | 7 » >+ (15x24%2) 2| 2 (ﬁ
30-28 V68020-000100 AF - H— 1| 1|5/16" Jamm

30-29 1446-316—0010-0 | v —A Fx » 7 1] 1




B
3

RHEES &3 -—- K 7! % 3| o 553 .4 =3
31- 1 1444-318-0010-0 | ¥7 # —=x (L) 1] 1

31- 2 1444-318-0020-0 | ¥7 # —=(R) 1| 1

31- 3 1444-318-0030-0 | =y 7 Fvr—+ 4| 4

31~ 4 1404-301-0100-0 | ¥7 Har b+ 8| 8

31- 5 V30346-000800 IHE Fy b 8| 8(M8 (7T)
31— 6 1444-318-0040-0 | ¥7 v =4+ (12) 4| 4

31— 7 1444-318-0050-0 | ¥=F v AF A} H5— 4| 4

31- 8 1444-318-0061-0 | =~ F+— (20) 2| 2

31- 9 1421-301-0120-0 [ A5 A+ HF5—(43%x58x1) 1] 1

31-10 1444-318-0070-0 | ¥7 ¥=o4v <47} 4| 4

31-11 1444-318-0080-0 | ¥7 4 —x <& (L) 1] 1

31-12 1507-318-0010-0 | ¥7 #—2 £ (R) 1] 1

31-13 1444-318-0110-0 | & (A) 8| 8

31-14 1444-318-0120-0 | v 4 (B) AR | AR

31-15 V¥20146-100250 aHE Kb 11 |11 [M10x25 (9T)
31-16 V40116-001000 S.wW 11 |11 |M10
31-17 V60011-060110 R.B.B 2| 2|6011
31-18 1507-323-0010-0 | k4 E=x+v(10) (L) 1 1

31-19 1507-323-0020-0 | &4+ E=xv(10) (R) 141

31-20 1507-323-0030-0 | R. B . B (6208R) 2| 2

31-21 1444-319-0010-0 | ¥7 =52 45,5 11

31-22 1444-319-0020-0 | ¥7 w527 <72 1] 1

31-23 1444-319-2000-0 | ¥7 B, 27 #H4s COMP 111

31-24 V72010-240160 oM Y vy 1| 1(|P1s6
31-25 1444-319-2101-0 F7 =, 7 g0 COMP 1 1

48



&

L 8

-

b

-

)

Fig 37

o
n o
~N X
® X o o
0 S
ﬁF - o o= NN
ms - - - N N
~
o~ ~
™
/.\\W/ NN
N O EN
NN — |
= M oSN
™ % R
Ko™ L
BN -~
og A s oA K
2N xRN
~ X K O K
o o
A | |
©C 0 0 O ~
R ==
| =B B ==
o o o < o
| o o o |
n a0 0 o m
~ | 1 1 &
™ M o ™
nm (I I |
T 0 O < I~
- R ==)
0 D Y e B Yo N ST
-2 > P
0
_7 © >~ 0 o O
I
m Lo T T o TR B o |
EL ™ mmm ™

49



) \\
Jedd <7 //i

1%

DYy 722NN 5Bk

BHES LD — K &h £ Sﬁ%il‘ 3] % %
32— 1 1444-321-0010-0 | V& T727Aar »~vovs(L) 1] 1

32— 2 1444-321-0020-0 | V¥ T 2AA »~v2v7(R) 1)1

32— 3 | V52010-100220 ~4 a3y Ev(A) 4| 4)10x22

32— 4 V20146-100300 ayg Kb 18 |18 |[M10x30 (9T)
32— 5 V20146-100500 aFx Arb 8| 8 {M10x50 (9T)
32— 6 V20146-101100 2 FE Erat 8| 8 |[M10x110 (9T)
32— 7 V40116-001000 S.W 34 |34 |M10

32— 8 1446-324—0010~0 | kA 57} 2| 2

32— 9 1507-324-0020-0 | =4~ F+¥—(55) 2| 2

32-10 1507-324-0030-0 | #5—(56%x65%x240) 2] 2

32-11 1444-324-0040-0 | =2 7o ¥a 21 2

32-12 V¥72110-310550 "oy vy 2| 2|GS55

32-13 V60011-062090 R.B.B 21 216209

32-14 V60711-060110 R.B.B(btx7 2%) 2| 2|6011NR
32-15 V74416-890120 AN = 21 2 %%E‘:é%?fé?n
32-16 V74216-890070 AL =2 ‘ 21 2 %’98%8};{}9)
32-17 1444-324-0050-0 | Ab w7 V7 4| 4

32-18 1444-324-0060-0 | 77 AL — AZN 21 2

32-19 V20126-080200 axs Hab 8 | 8 |M8x20
32-20 V10116-000800 S . W 8| 8 |M8

50



RHES B& - K & S 38 B
33- 1 1444-327-2001-0 | ¥4 A% 7 uv—% ASSY 2| 2

33- 2 1444-327-2111-0 | e 7V y vy Fr—1} 4| 4

33- 3 | 1444-327-2121-0 | e v —} Yvy 4| 4

33- 4 1444-327-2131-0 | s EA}+ Y vy 4| 4

33~ 5 1444-327-2011-0 | e ¥4 x4 FL—} 8| 8

33— 6 1444~-327-2021-0 | s &L —% FL—} 4| 4

33- 7 1444-327-2030—0 | e V& —v =7y vz 6| 6

33- 8 V68020-000190 e AF_N E—a 24 (24 [19/32
33~ 9 1444-327-0010-0 Py v 21 2

33-10 1507-327-0010-0 | 7v—%F 14 n 2| 2

33-11 V20146-100250 ayE Hatb 12 (12 |[M10x25 (9T)
33-12 V40116-001000 S.W 12 {12 [M10
33-13 V70414-004000 CHg +arv(w2s) 2| 240
33-14 1444-327-2200-0 | 7v—=% w®, F COMP 2| 2

33-15 1444-327-0030-0 | ¥ (15%x30) 2| 2

33-16 V50015-300200 7y vy 2 2|3x20
33-17 1444-327-0040-0 | 7— v 2 2

33-18 1444-327-0050-0 | vy o FL—t 2| 2

33-19 1417-102-0050-0 | 74 -2 {uvF§ 2| 2

33-20 V20126-080160 aHFE EA 8| 8 |M8x16
33-21 V70514-008000 Crs +rv(75) 2] 2180




BHES &I — K an E4 s | F R % i ] %
34- 1 1444-328-2000—-0 | 7v—% ¥+ 7} 8SET 1] 1

34— 2 e7Vv—-% vx7F COMP 1 1 o
34— 3 e 7LU—% g (L) COMP 1) 1 N
34— 4 1421-312-0020-0 | 7 » ¥+ (26%x35x1) AR [AR

34— 5 1444-328-0010-0 | 7 » ¥+ (26%x46x3) 2| 2

34— 6 V70414-002500 CHx +rv(27) 1| 125

34~ 7 1432-403-2260-0 | 7V A =3 TN 1| 1{A-M6F P=10
34— 8 V51110-080500 H#E7Y F— vV 1| 1[8x50

34— 9 1444-328-2300-0 | 7v—% <A (R) COMP 111

34-10 V76340—000000 JYVRAR =T 1| 1|B-PT1/8

34-11 1403-312-0030-0 | A—%v ¥ Fv—% ASV VS 21 2

34-12 1446-328-2000-0 | 7 #=<& COMP 2| 2

34-13 1444-328-0020-0 | ¥ (8%37) 2| 2

34-14 V41316-000800 FITL FHE 2| 2|M8

34-15 V50015-200180 7y ¥V 2| 2|2x18

34-16 1444-122-0020-0 | #—v <7 72 (M8) 2| 2

34-17 V30226-000800 F b 2| 2 |M8 (3f)

34-18 1401-122-0050-0 [ > F (&Y ) 2| 2 (M8 (3%

34-19 1432-313-2000-0 | ~A—%v7 7v—% ASSY 1)1 )
34-20 1444-328-2700-0 | -t—%F v Fv—=% ASSY 1] 1 }’g*ﬁmﬂ
34-21 1444-328-0030-0 | A—%v 7 =y F 1] 1

34-22 V41316-000800 FiwA FHF 2| 2|M8

34-23 V50015-200180 79 ¥V 2| 2{2%18

34-24 V20126-080200 apx g Hat 2| 21M8x20

34-25 V40116-000800 S .W 2| 2|M8

34-26 1444-328-2500-0 | -i—%v s 7—4 COMP 1] 1

34-27 1444-328-0040-0 v (10x71) 1 1

24-28 V50015-200180 7Yy vy 1] 12%18

52



Fig35 1 + &

4

LBk

&
AHES B& - FK &R % s 7 R ¥
35— 1 1447-331-2200-0 |W10-24 kA4 1y 4 2| 2
35— 2 1447-331-2120~0 [ V¥— RAL F,4 2z 21 2
35— 3 1447-331-2130-0 [ A%< 7x= Ha} 8| 8
35- 4 V30046-001600 F o b 8| 8IMi6 (7T)
35- 5 V30246-001600 F s b 8 | 8 (M16(7T)(3%&)
35— 6 V40116-001600 S.w 81 8 [Mis
35— 7 1507-331-2110-0 | #4 + 2| 2|124-24-4PR
35- 8 V88900-124240 Fo—7 2| 2]124-24
35— 9 V99920-000300 BAY SAT ., S 2| 2(CL¥#
35-10 V20146-160300 IHFE Eap 12 112 [M16x30 (9T)
35-11 V40116001600 S.w 12 112 [M16




Fig36 + U > & &

RHES s, a-— K AR sm;i‘ # B %
36— 1 1444-501-0010-0 | ¥ v& & —=A 1|1

36— 2 1444-412-0010-0 | 7V —% 357 1| 1|PT3/8

36— 3 V20146-100300 aFE HEAb 6| 6 IM10x30 (9T)
36— 4 V30346-001000 axg Fy b 4| 4 |M10 (1D
36— 5 V40116-001000 S.W 10 |10 [M10

36— 6 V78010-000020 X3 7570 1| 1]|PT1/8

36— 7 V52010-100280 ~4ay v (A) 2| 2

36— 8 1444-503-0010-0 | €A}V 1|1

36— 9 V72011-570650 no" v vy 1| 1|P65

36-10 1415-505-0060-0 | <o 27 747 Vv 1| 1|P65

36-11 1444-503-0020-0 | = » ¥ 111

36-12 1444-503-0050-0 | ¥V v4& ~, F 1|1

36-13 V72111-310700 oty vy 1] 1(|G70,HS90
36-14 V72011-240120 "y vy 1|1 |P12,HS90
36~15 V72011-240200 "oy vy 1|1 (P20,HS90
36—16 V20146-120300 axsg HErt 5|5 [M12x30 (9T)
36-17 V40116-001200 S .W 5|5 |M12

36-18 V78010-000020 vXs TSI 1] 1}PT1/8

54



& &
RHEFE B&a-—- K 7] % T 53]
37— 1 1444-502-0010-0 [ Y7+ vy 7} 1|1
37— 2 V70414—-004500 CHz rarv(v2z) 2| 21|45
37- 3 1444-502-2000-0 |V 7+ 7 —a (L) COMP 1|1
37- 4 1444-502-2010-0 [ Y7+ 7 -—=a 1|1
37- 5 1444-502-0020-0 |97+ 7-—4a v 21 2
37- 6 1404-502-0130-0 | 2% HA L+ (M8x25) 2| 2
37- 7 V30226-000800 F v b 2| 2 |M8 (3%&)
37- 8 1444-502-0030-0 (V7 235w 111
37— 9 1403-209-0060-0 [ =# & HFEibp (M8x20) 1|1
37-10 V59013-122800 Ty 1| 1(1.2x280
37-11 1444-502-2100-0 | £+ 2 v H£x COMP 11
37-12 1403-209-0060-0 | =a# & Hrtk (M8x20) 1|1
37-13 V59013-122500 TV 1| 1}12x250
37-14 1444-502-2200-0 [V 7+ F55 51+ 7,—2 COMP | 2| 2
37~15 1444-503-2200-0 | A=— V&—v F.,5 -~ ASSY | 1| 1
37-16 1444-503-0070-0 [ 72+ AF ~vin 11
37-17 V11116-400160 T75A F< a2z 1| 1 {Mdx16
37-18 1444-503-0060-0 |2 2735 77 (M22) 111
37-19 V72011-240200 KO 2P 4 1|1 |P20
37-20 1416-565-0030-0 |v7av .- 111
37-21 V72011-240140 "oy vy 3| 3(P14
37-22 V20126-080200 2 HE HEab 2| 2 |M8x20
37-23 V20126-080250 aFE HErb 1] 1 |M8x25
37-24 V40116-000800 S . W 3| 3 [M8
37-25 1444-503-2301-0 |77 ¢+ — A7 ASSY 171




RHES |

B
22

& - K & % 33} % I %

S| F

37-26 1444-501-0020-0 | =% 7 5 > a2 (45%x50%x42) 1 (1

37-27 1444-501-0030-0 | =% 75 > a2 (50x55%x42) 1] 1

37-28 1444-501-0040-0 | A4 >—n 2| 2|08S45554

37-29 V58014-080500 AZY vy v (W) 1| 1]|8x%x50

37-30 V59013-121700 F oy 1| 1112x170

37-31 1444-503-2001-0 | avtae—nA SATF  ASSY 1] 1

37-32 V72011-240120 "o v vy 3| 3|P12,H890

37-33 1444-503-2100-0 |+ A 347 COMP 141

37-34 V20126-080120 aHE Eab 1| 1 (M8x12

37-35 V40116-000800 S.wW 11 1|M8

37-36 V20126-080400 IaHE EAb 4 | 4 [(M8x40

37-37 V40116-000800 S. W 4 | 4 |M8

37-38 1444-503-0030-0 |Fvvwv A7V vr(91) 1|1

37-39 1444-503-0040-0 | A7V v 7, 7 1] 1

37-40 V20026-060120 Ea b 1| 1 {M6x12

37-41 V40116-000600 S. W 1| 1 (M6

56



bO— LR

& &
RHEHES | B & 12— F & % s s 18
38— 1 1444-505-0010-0 | #o v =y <y 7} 1] 1
38— 2 1444-505-2001-0 | £~ av 7—4(A) COMP 1 (1
38~ 3 V58014-040180 AZY v v (W) 1|1 (4x18
38~ 4 V59013-090700 F ot 1| 1/09x70
38— 5 1444-505-2100-0 | A7 —n UV vs COMP 1|1
38- 6 1434-503-0020-0 | ¥ (5%x17) 111
38— 7 V41316-000500 Fiw FHF 1| 1({M5
38— 8 V50015-200150 gy v _ 1|1 |2x15
38— 9 1444-505-2200-0 | 74— F i, 4 7—4 COMP 1|1
38-10 V71014-000900 E#g +a7v 1|1 E9
38-11 1444-505-0021-0 | 7— 4 (D) 1|1
38—12 V71014-000400 Exg t+Av 2] 2|E4
38-13 1421-507-0070-0 | A b » -2 111
38-14 V20126—-080160 ayE FHar 1| 1|M8x16
38-15 V40116-000800 S . W 1] 1 |M8
38-16 1444-505-2301-0 | £y > s v 7—24(B) COMP 11
38-17 V58014-040250 ATV I v (W) 1|1 |4x25
38-18 V59013-091000 F oy 1| 1]09%x100
38-19 1444-505-0030-0 |5 » s v A7V 7 (45) 101
38-20 1444-506-2000-0 | L.i— #H4 F COMP 111
38-21 V20126-081150 IHE HEab 2 | 2|M8x115
38-22 ¥40116-000800 S . W 2 | 2 M8
38-23 1444-506-2100-0 | #2 o s v L.i— COMP 1|1
38-24 1432-242-0040-0 | 77V » 7 (B) 111
38-25 1421-507-0130-0 | 54 = » 2 | 2




i

1421-507-0140-0
1421-507-0150-0

V20026-060400
V30026-000600
V30226-000600
V41316-001200
V50015-200250
V74211-624040

1444-050—2101-0
1444-507-0010-0

o S| TF #
7,y (6x24%2) 1|1
Ty vx ATYVT(26) 1( 1
H b 1] 1 |M6x%40
+ b 1| 1|M6
ok 11 1 1M6 (3f0)
F I FHF 1 1 |M12
7y Ev 1 1 |2x25
FAL - 1 1|VC16244
avbrae—n FT—un SET 1 1
75 v2(16%x18%x18) 1] 1




2
17
ik 3
REgES | & 13— F A % sTpl #®
39- 1 1507-507-2000-0 { =¥ b s5—A 94+ ASSY 1|1
39— 2 V41316-000500 FIvA FHER 21 2|Ms
39- 3 V50015-150150 79 v 2| 2]15x%x15
39- 4 1444-507-2201-0 | 74 % & (A) COMP 1| 1
39- 5 V20026-060450 H b 11 1|M6x45
39~ 6 V20026-060160 At 1{ 1[M6x16
39- 7 V30026-000600 F 5 b 3| 3([Ms
39- 8 V40116-000600 S. W 2] 2|Msé
39- 9 1444-507-2301-0 | 74+ a4 (B) COMP 11
39~10 V20026-060160 A b 2| 2{M6x16
39-11 V40116-000600 S.w 21 2|M6
39-12 V20126-080400 IHFE FHEab 1| 1|M8x40
39-13 V30226-000800 F 5 b 1| 1|M8
39-14 \'20026-060120 F b 2| 2|M6x12
39-15 V40116-000600 S.w 21 2|Mé6
39-16 1444-507-2400-0 | ¥ v 7 (A) COMP 1] 1
39-17 V20126-080300 IHE Hat 11 1[M8x30
39-18 V30226-000800 ¥y b 1| 1|M8 (3%@)
39-19 1444-507-2500-0 | = » ¥ COMP 141
39-20 V50015-150150 7Yy Ev 2| 2|15x15§
39-21 V41316-000600 Fiwa ¥FHFE 21 21Ms
39-22 1444-507-2600-0 | ¥ v 2 (B) COMP T !
39-23 1444-507-2700-0 | v-i— COMP 11
39-24 \'58014-040200 A7V v v (W) 1] 1([4ax20
30~25 \'59013-090700 TV 1 1(09%x70
39-26 1444-507-0020-0 | 7 v > 2 v 7Y vy(111) 1 1
39-27 1444-507-0030-0 | v-i— =%y 1] 1
i

29



Fig. 40

NA kY, on4ES (C, HE)

;

A\

/

\

ko)
N

\

e
27 AL

( >~

|

'\~\,-'

L 3
RHES H&IdI— K &l # S@ﬁ;‘ 53} P 1] %
40- 1 K135-003-0000-0 | ¥#¥— Hv7 ASSY 1] 1
40— 2 K135-002-0060~0 | e v Hi— 1] 1
40- 3 | K135-002-0070-0 [ e ~¥ ¥V F-— 11
40— 4 K135-001-0070-0 | e kA4 A ¥—n 1] 1
40- 5 K135-001-0080-0 | » "0" v v 7 (G50) 1|1
40— 6 K135-001-0090-0 | ¢ "O" ¥ v (P22) 41 4
40- 7 K135-002-0080-0 | » "0" v vz (P6) 1] 1
40— 8 K135-002-0090-0 | e 2 & #Fib 6| 6
40- 9 V40114-000800 S .W 6| 6 |M8
40-10 1404-503-0060-0 | A4 HvF S, Fv 1)1
40-11 1444-408-0040-0 | A7 54 v £A 1l 1
40-12 1404-503-0090-0 | ¥¥— Hv7 bts Ty« 1] 1
40-13 V30326-000800 aHE Foy b 1] 1 |M8
40-14 1444-510-0020-0 | 727= o5 b+ (M8) 2| 2
40-15 1507-510-2000-0 | ¥v.%p 247 COMP 1] 1
40-16 V72011-240200 "oy vy 1| 1]|P20,HS90
40-17 V20026-060300 F b 4| 4 |M6x30
40-18 V40116-000600 S.W 4| 4 [Ms6
40-19 V72011-240140 "oy v 1] 1|P14 HS90
40-20 V20126-080350 axx FEab 2| 2 |M8x35
40-21 V40116-000800 S.w 21 2 |M8
40-22 1444-510-0030-0 | 7 5 v 7 (A) 1] 1
40-23 1444-510-0040-0 | -°— (A) 1] 1
40-24 V11116~600120 FSA FL aFT 2| 2 |[M6x12
40-25 V40116-000600 S.W 2| 2 [M6
410—-26 1507-510-2101-0 |# 2> s v -4 7 (A) COMP 101

60



Fig. 40

N kY o944 (C, HE)

ik

RH&S | 82 23 - K & % et %
40-27 V72110-310250 "o"y vy 1| 1(G2s

40-28 V20126-080500 IHE HErb 3| 3|M8x50
40-29 . V40116-000800 S.wW 3] 3|M8

40-30 1444-510-0051-0 | #35 v 7 (B) 1] 1

40-31 V11116-600120 TIA FR aixo 2| 2 M6x12
40-32 V40116-000600 S. W 2| 2|Ms

40-33 1444-510-0080-0 | "4 ¥ v | 2 | 2|HS16

40-34 1488-510-0082-0 | a4 v} -4 7 (B) 111

40-35 1444-510-2201-0 |# 7> a¥ 7,.4% ASSY 11

40-36 1444-510-2220-0 | e 4 —= 1)1

40-37 1444-510-2500-0 | e =2 %, b ASSY 141

40-38 1444-510~2290-0 | e o —F t,2v 1|1

40-39 1444-510-2250-0 | e=L 2 v} 1|1

40-40 1444-510~2260-0 | -2, % v 1|1

40-41 1444-510-2270-0 | e 34 27y vy 1|1

40-42 1444-510-2310-0 | » "O" p v & 1 (1

10-43 V20326-100250 IHE FEar(Hya) 2 | 2 MI0x125x%x25
10-44 V40116-001000 S.w 33 M1o0

10—45 V20326-100400 BHE HEab (kY ) A ST G ) PR s (e e )
10—-46 1444-510-0090—-0 TLH q F(B) 1 1

10-47 1444-510-0080-0 | 74+ .1y 2 | 2

10-48 1444-510-2400-0 [ ¥ 2> s v _.if 7 (B) COMP 1|1

10-49 V72010-240200 O 1| 1|P20

0-50 V20026-060400 Aot 3] 3 M6x40

0-51 Vi0116-000600 S.Ww 3 | 3 |Ms




Fig 41

N k) a4 eSS (GR)

I FE
RuES | B&a- K | & % s [r| *
41- 1 K135-003-0000-0 | ¥¥— Hv7 ASSY 1] 1
41- 2 K135-002-0060-0 | e HvF H - 1] 1
41- 3 K135-002-0070-0 | = ~v ¥V F— 1|1
41- 4 K135-001-0070-0 | e+ A1 ¥—n 1] 1
41- 5 K135-001-0080-0 | » "0" » v # (G50) 1] 1
41- 6 K135-001-0090-0 | = "O" D v 7 (P22) 4| 4
41— 7 K135-002-0080-0 | ¢ "O" V¥ 7 (P6) 1|1
41— 8 K135-002-0090—0 | e a#H & £t 6| 6
41— 9 V40114000800 S .W 6| 6 |M8
41-10 1404-503-0060-0 | x4 HvF Sy, Fv 111
41-11 1444-408-0040-0 | A7 74 £= 101
41-12 1404-503-0090-0 | ¥¥— Hv7 tx T,y 1] 1
41-13 V30326-000800 apsE Foyb 1| 1|M8
41-14 1444-510-0020-0 | 722 45 F (M8) 2| 2
41-15 1507-511-2000-0 | ¥ V-V 247 (A) COMP 1|1
41-16 V20026-060300 F b 8| 8 [M6x30
41-17 V40116-000600 S.W 8| 8 |M6
41-18 V72011-240200 "Ny v 1| 1|P20
41-19 V72011-240140 oL 1| 1|P14
41-20 1444-510-0030-0 | 25 v (A) 1] 1
41-21 1444-510-0040-0 | 54— (A) 1] 1
41-22 V11116-600120 F5A FN TR 2| 2 |M6Ex12
41-23 V40116-000600 S . W 2| 2 M6
41-24 1446-511-2100-0 | Fv-{y ¢4 7 (B) COMP 1)1
41-25 V72011-240140 0oy v 1|1 |P14

62



N kY o84S (GR)

3

RH&ES B&aa3-—-F T} £ ;mﬁ; i) B’
41-26 V20026-060300 A b 4| 4 [M6x30
41-27 V40116-000600 S.w 4] 4 |Msé

41-28 V72011-240140 oy v 1| 1]|P14

41-29 V20126-080350 axE HFEat 2| 2 |M8x35
41-30 V40116-000800 S.w 21 2 |M8

41-31 1507-510-2101-0 | %2 a ¥ .34 7(A) COMP 1)1

41-32 V72110-310250 "oy vy 1] 1|G2s5

41-33 V20126-080500 aHE AHEnb 3| 3 |M8x50
41-34 V40116-000800 sS.w 3| 3 |Ms8

41-35 1444-510-0051-0 | # 5 v 7 (B) 1)1

41-36 V11116-600120 TIA FR =i 2| 2 |Mex12
41-37 V40116-000600 S.w 2| 2 [Ms

41-38 1444-510-0080-0 | 744 .{vF 2| 2

41-39 1488-510-0082-0 | s A v} .4 7 (B) 11

41-40 1444-510-2201-0 (# 7Y =ay¥ Z7.4,A% ASSY 101

41-41 1444-510-2220-0 | o #— = 1|1

41-42 1444-510-2500-0 | e =% » } ASSY 111

41-43 1444-510-2290-0 | e o — } <, % 111

41-44 1444-510-2250-0 | e =1 2 v} 11

41-45 1444-510-2260-0 | o <, % Ly

41-46 1444-510-2270-0 caAfL RSy vy 1 1

41-47 1444~510-2310-0 | « "0" » v (3820) 1] 1

41-48 V20326-100250 FHE EAR (FYa) 2] 2 [M10x1.25%25
41-49 V40116-001000 S. W 3| 3 |M10

41-50 V20326-100400 HE FAb(HRyx) 1|1 |M10%1.25%x40

63




RH&ES |

=]
o3

B4 - K & # sTel # f 3

41-51 1444-510-0090-0 | =& 34 7 (B) 1] 1

41-52 1444-510-0080-0 | 74+ A<v V¥ 2| 2

41-53 1444-510-2400-0 | +27 > s v -4 7 (B) COMP 1] 1

41-54 V72010-240200 "o" Yy v 1| 1|P20
41-55 V20026-060400 Foav b 3| 3IM6x40
41-56 V40116-000600 S. W 3| 3 [Ms6
41-57 1446-511-2200-0 | 72— F 4.4 & ASSY 1|1

41-58 1446-511-2301-0 | FV-3y .34 7(C) COMP 1(1

41-59 V72011-240120 "ot 9y v 2| 2]P12
41-60 V72011-240200 "Wr Y v 1 1(P20
41-61 V72011-240140 "o yvs 21 2|P14
41-62 V20126-080600 axE Fat 3] 3|M8x60
41-63 V40116-000800 S . W 3] 3|M8

64



Fig. 42

AN =K K4 b AT A

RHES | & 22— K Sh % ;@ﬁ;‘ R %
42— 1 1444-514-2000-0 | =27V v 754%, + (L) COMP 1)1

42— 2 1444-514-2100-0 se7YVvy 754, F (R) COMP 1] 1

42— 3 1444-514-0010-0 | v — + (C) 2| 2

42— 4 V20146-121600 IHFE HFELLD 12 |12 | M12x160 (9T)
42— 5 V30046-001200 F 5 b 12 {121 M12 (7T)
42- 6 V40116—001200 S.W 12 (12| M12

42— 7 1445-514-2000-0 | = 7— VD vz COMP 2| 2

42— 8 1444-514-0020-0 a7 — YvI vV 2 2

42- 9 V50015-400350 7) v 2| 2| 4x35
42-10 V41316-002200 FIiwL FHE 2| 2| M22

42-11 1416-511-4000-0 | =7 VY >vy F=x=—v COMP 2| 2

42~12 7963-611-0010-0 | F=—v v 21 2

42-13 V30026-001600 F oy b 2| 2[Mie6
42-14 V40116-001600 S.W 2| 2|M16
42-15 1445-514-2100~0 | F =5 7 F=x—v(A) COMP 2| 2

42-16 1445-514-2200-0 | F =5 7 F=x=—v(B) COMP 2| 2

12-17 1444-514-2300-0 | #—v .3, 24 (A) COMP 21 2

42-18 V30226-001600 F o b 2| 2|Mie (3%)
42-19 7062-611-0030-0 | €~ (12x48) 4] 4

42-20 V50015-300200 7Y v 4| 4| 3%x20
42-21 1444-514-2401-0 Y7F =y F COMP 111

12-22 1445-514-2300-0 | <~ F+— COMP 11

42-23 1445-514-0010-0 | <~ r—=x 111

42-24 1445-514-0020-0 | #5—(20x30x%10) 1] 1

12-25 \'58014-050300 ATV VI v (W) 1] 1(5x%x30




i

RHEES | B & 31 — K &h % - ) B i %
412-26 V61011-511040 N A ASAP (vuaa) 1 151104
12-27 1445-514-0030-0 | »— . (38) 1] 1
42-28 1432-403-2260-0 | 7 v 2 =, 7. 2| o
42-29 1445-514-0040-0 | » » # A7y o7 1] 1
42-30 V59013-091000 Ty 1] 1| 09x100
42-31 1445-514-2400-0 §{ 7o ¥ A+ ~vFai COMP 141
42-32 1445-514-0050-0 | <~ F+—(10) 1] 1
42-33 V58014-050180 A7V vr Ev(W) 1( 1| 5x18
42-34 V60011-060040 R.B.B 1| 1] 6004
42-35 V70414-002000 Crs rr9(22) 1| 1|20
42-36 V70514-004200 CHE brv(73) 1( 1] 42
42-37 V74412-042080 FAL v—p 1] 1 K%%gg%%o
42-38 1445-514-2500-0 [ 7+ =, F(L) COMP 11
42-39 1444-514-0030-0 | £'v (19x72) 2] 2
42-40 V50015-400300 7Y ¥ 2| 2| 4x30
42-41 7963-613-0050-0 | ¥~ (16x60) 21 2

2-42 1305-931-0030-0 | *v 7 Evay ~v— v 21 2
42-43 1444-514-2801-0 | +F » 7 9 v 7 (L) COMP 1] 1
42-44 1444-514-3000-0 | b » 7 Vv 7 (R) COMP 11
42-45 1444-514-2900-0 | #— v -, 7, COMP 11
42-46 1402-511-6000-0 | F»7 Y ¥v7 ®=mo,27 F,F COMP| 1] 1
42-47 1444-514-0040-0 by D €v(A) 1] 1
42-48 1444-514-0051-0 | ~¥~ v (19) 1|1
42-49 1444-514-0060-0 | +» 7 9 vy v (B) 1] 1
42-50 1421-502-0020-0 | ¥ v s vv 11 1

66



ik
o P I % sjp| ® R | B
43— 1 1444-604~2000-0 [ 7 7 v #.i—= (L) COMP 111
43— 2 1444-604-2101-0 | 77y v #-{—(R) COMP 1|1
43- 3 1444-604~0010-0 | %A ¥ 75 2F 4| 4
43- 4 V71014-000900 Exs t+a9 4| 419
43— 5 1444-604-0090-0 | 54 v 5.5~ 2| 2
43— 6 1444-604-2200-0 | & » + (L) COMP 1] 1
43- 7 1444-604-2300-0 | % » F (R) COMP 111
43— 8 1444-604-0020-0 [ 79y > s v =& 34 |34
43- 9 1444-604-0030-0 [ F v b 75 >+ (4%x12x2) 34 {34
43-10 V35016—000400 AE—-VF Fo b (P) 34 (34 | 4
43-11 1444-604-0070-0 TVvEY — 1 1
43-12 1507-604-2000-0 | w4 ¥ #.{— (L) COMP 1|1
43-13 1444-604-2500-0 | ¥4 ¥ #H.i—~(R) COMP 1] 1
43-14 V20126-080160 aFE  FEab 4| 4 |M8x16
43-15 V40116—000800 S . W 4 | 4|Ms8
43-16 1444-604-2802-0 | Y+ #.i— (L) COMP 11
43-17 1507-604-0010~-0 | ¥+ ».i— (R) 11
43-18 V11116-600120 F5A FR oz 8 | 8|M6x12
43-19 V10116-000600 S.wW 8| 8 |Ms6
43-20 V41316-000600 FIwA HFHR s | 8 M6
43-21 1507-604~2100-0 | ¥F= v #.i— COMP 171
13-22 1444-604-0050-0 | 7 v v = v = 4 111
43-23 1444-604-0060-0 | F=v o HAF 11
43-24 1444-604-0080-0 | 752 <=AH35 =2z (M5-16) 114
43-25 V11116-600120 TI3A FN 3k 2| 2 |Mex12
13-2§6 V10116-000600 ALY 2| 2 |Ms6
13-27 V41316-000600 FITa FHE 2| 2 |M6
43-28 1444-621-0160-0 : TN Faw (D) 44

|




Fig.ad 7 T > 4 B &

R&E%lgﬁuﬁzn—l\“ AR £ Smﬁ; i) -4 ]
44— 1 1444-606-2001-0 | 7=v & (L) COMP 1] 1

44— 2 1444-606-2201-0 | 7= # (R) COMP 11

44— 3 V20126-080160 aFE HEiAb 18 |18 | M8x16
44— 4 V40116-000800 S.W 18 |18 | M8

44— 5 V41316-000800 Fiwn FHEX 18 |18 | M8

14— 6 1444-606-0010-0 | 5¥—nA JVv—1t 2| 2

44— 7 V11116-500250 5% FR aFy 4| 4| M5x08x%x25
44— 8 V40116-000500 S.wW 4| 4| Ms

44- 9 3560-201—0150-0 | ¥ » Vv 724 HFHX 41 4

44-10 1421-606-0020-0 | ~¥F Fx o F« 2| 2

44-11 V20126-080200 axsE FEat 4] 4| M8x20
44-12 V40116-000800 S.W 4| 4| M8

44-13 V41316-000800 FIiwA HHE 4| 4| M8

44-14 3622-822-0080-0 | 9 & T o ¥a 21 2

44-15 1444-621-0160-0 | =& *+ » 7 (9) 10 |10




45—
45—
45—
45-
45—
45—
45—
45~
45~
45-10
45-11
45-12
45-13
45-14
45-15
45-16
45-17
45-18
45-19
45-20
45-21
45-22
45-23
45-24
45-25

00 =~ O U W N

w0

1444-607-2000-0
1444-607-2100-0
V20126-080160
V40116-000800
1444-607-2201-0
1444-607-0010-0
1444-607-2401-0
V11116-600160
V40116-000600
V41316-000600
V20126-080250
V40116-000800
V41316-000800
1444-607-0020-0
V11116-600160
V40116-000600
V41316-000600
1444-607-2510-0
1444-607-0030-0
V20126-080160
V40116-000800
V11116-600160
V40116-000600
V41316-000600
1444-607-2610-0

A7 — (A) COMP
A7 —(B) COMP
aHE FEat
S.W
787 Hhoei— COMP
Fa 45 b (40%60x1)
7 9%t A= COMP
TZA FX IFXy
S . W
FiwL HFHIR
aHx Ent
S . W
+IwN FHF
V= Fu 7R
TI3A FX aFxy
S . W

I HFHF
L7 Fr HAVN
HAE AFyo2(A)
aHE  Eab
S . W
TITA FX oz
S . W
FIw YHFR
avsbE— HAVN

ol s I 2 - T - T U Nt N O N T T Y S S S i G G

NN N B B R NN NN B B e e

[ I VR Y

M8x16
M8

M6 x1 6
M6
M6
M8x25
M8
M3

M6x16
M6
M6

MB8x16
M8
M6x16
M6
M6




B
=

BHES & 33— K &h s |7 H i
45-26 1444-607-0040-0 | "4 ¥ A} < (B) 1] 1

45-217 V20126-080160 axE FEab 2] 2| M8x16
45-28 V40116-000800 S.W 2| 2| M8
45-29 V41316-000800 F i FHF 2| 2| M8
45-30 V11116-600160 TSA FX aFY 1| 1{M6x16
45-31 V40116-000600 S.W 1| 1| Mé
45-32 V41316-000600 Fiw FHFE 1| 1| Msé
45-33 1444-607-2700-0 | A+ » -2 COMP 1] 1

45-34 1444-601-0110-0 | 7 » o+ (9x24x1.6) 1] 1

45-35 V37016-000800 Fa¥ Fob 1| 1| Ms
45-36 V40116-000800 S. W 1| 11{ M8
45-37 1444-607~2800-0 | ¥ =~ #4 F(L) COMP 1] 1

45-38 V11116-600120 IR FX =FRU 4| 4| M6x12
45-39 V40116-000600 S.W 4| 4| Ms
45-40 V41316-000600 FiwA HHF 4| 4| M6
45-41 1444-607-2901-0 | ¥ =~ #4 F(R) COMP 111

5—42 V11116-600120 SS5Ax FX axry 4| 4| M6x12
45-43 V40116-000600 S.wW 4] 4| Ms
45-44 V41316-000600 FiwA FHF 4| 4{ Ms
45-45 1444-607-2001-0 | +v& H-i— COMP 1| 1

45-46 V11116-600120 ISR FX 2RY 4| 4| M6x12
45-47 V40116-000600 S.W 4| 4| Ms
45-48 V41316-000600 F I FHF 4| 4| Ms

70



Fig.46 > — b B &

#

RHEES | & 3 - K ) & fpﬁ i |
46— 1 1488-611-2001-0 | ~»—F+ ASSY 1 1
46- 2 1488-611-2011-0 | » »— } (A) 1] 1
46— 3 1421-611-0020-0 | « > — + (B) 1] 1
46- 4 V20026-060300 e Fat 2| 2| M6x30
46- 5 V20026-060200 o FHa b 2| 2| M6x20
46— 6 V40116-000600 S . W 4| 4|Ms6
46- 7 V41316-000600 e FITL HHiE 4| 4| Ms
46- 8 1488-611-2100-0 | »—+ 724 2x (L) ASSY 1] 1,
46— 9 V30026-000800 F o b 2| 2|Ms
46-10 V40116-000800 S. W 2| 2|Ms8
46-11 1488-611-2200-0 | ¥v—+ 74 A% (R) ASSY 1|1
46-12 V30026-000800 F v b 2| 2|Ms8
46-13 V40116-000800 S.w , 2 2|M8
46-14 1446-611-2001-0 |>¥—+ F54 5 F COMP 1] 1
46-15 V30026-000800 F» b 4| 4| M8
46-16 V40116-000800 5. w 4 | 4|Ms8
46-17 1488-611-0010-0 |7 5 <. v = a (A) 2| 2
46-18 1488-611-0030~0 |v—}+ Yoy o 1] 1
46-19 V50015-250200 7Y v 1 1l 25x20
46-20 1488-611-0020-0 | 7 5 > 5 v = 4 (B) 2 2
46-21 V30026-000800 F o b 2| 2 (M8
16-22 V41316-000800 FIwA HFyi 2 1 2| M8

i




BHES | S8 & 12— F s sTr 38 & =3
47— 1 1446-616-2001-0 | A% » 7 (L) COMP 1] 1

47~ 2 1446-616-2100-0 | A7 » 7 (R) COMP 1] 1

47— 3 | 1507—-616-0010-0 | ¥ ¥ » b 11

47— 4 1444-616-0011-0 | 754 » b 3] 3

47— 5 V20126-080160 apg FEat 8| 8|M8x16
L7- 6 V40116-000800 S.W 8| 8(Ms8

47- 17 1432-616-0020-0 | 7 5y ¥a v = A 3| 3

47— 8 V20126-080120 aFE EAP 8| 8| M8x12
47— 9 V40116-000800 S.W 8 | 8|Ms8

47-10 1444-616-2201-0 | +7 x5 » 7 (L) COMP 1] 1

47-11 1444-616-2300-0 | 7 A7 » 7 (R) COMP 1|1

47-12 V20126-080160 ax sz Fat 41 4|{M8x16
47-13 V40116-000800 S.W 4| 4]M8
47-14 1444-122-0032-0 | Ao} #*7 7T— 4 11

47-15 V20126-080200 axF HEab 1| 1|M8x%20
47-16 V30226-000800 Fo b 1] 1|[M8 (38)
4717 1414-312-0020-0 | Fvvav A7V v 7 (53) 1] 1

47-18 1444-621-2600-0 | £ 754 AA 55 ASSY 1] 1

47-19 1446-617-0010-0 | 787 =3 + (L) 1] 1 }G&!%
i7-20 1446-617-0020-0 [ 727 =<5 } (R) 1 1

72



l

RHES B & 33— F T E4 e B B
48- 1 1421-600-0520-0 | X5 79 (N70Z) ASSY 1] 112V, 70AH
48— 2 1421—621—-0012-0 | * X7V F 4o 7 61 6

48— 3 1421—-621—0020—0 | * <o F v 61 6

48- 4 1417-621-0020-0 | 7Y ¥r—7n(Fs7) 1] 1

48- 5 1423-621-0210-0 | Y5 v F A+ 55 7(430) 1{ 1

48- 6 1402-621-0140-0 | #~3Fnr H A= (L50-14) 111

48~ 7 1444—-621-2000-0 | ~*»7Y ~—A COMP 1|1

48- 8 V20126-080160 axsx Hab 4| 4|M8x16
48~ 9 V40116-000800 S.W 41 4|Ms8

48-10 1422-687-0010-0 | *» 7YV «, b+ Fr—*} 1|1

48-11 1444-621-0021-0 |~ » 7Y -+, F #Hat 2| 2

48-12 V41316-000600 FITNL FHF 2| 2|M6

48-13 V30026-000600 F v b 4| 4| M6

48-14 1415-621-0170-0 | #— 3+ »-4—(L20-13) 11

73




BHBEE | B4 3 - F Te] £ N R ¥ ] =
49— 1 1444-621-2100-0 | 77 A —%& ASSY 1] 1 C,HHEAE
49— 1-1| 1446-622-3000-0 | 772 —% (G) ASSY 1§ 1 GE A
49— 2 1444-621-0170-0 | 75 *x +=< =% (M6x12) 4| 4
49— 3 1444-621-0180-0 | = 3= F#x (M6) 4| 4
49— 4 1488-621-2200-0 | A& —% A4 »F SET 1] 1
49— 5 1444-621-3200-0 | e*— ASSY 1] 1
49- 6 e RE—F AA L F 1|1 A
49— 7 1444-621-0060-0 | FL AA »F 1] 1
49- 8 3614-261-2200-0 | sk—v AA »F ASSY 1| 1
49— § 3614—261—2210-0 | « SW 1| 1
49-10 3614—261-2220-0 | * 7~ b 11 1
49-11 1426-621-0350-0 | 75 v+ ==vt 1| 1
49-12 1426-621-0360-0 | 75 s ¥+ ==»F ~—2A 1|1
49-13 V20026—060160 Ak 1] 1| M6x16
49-14 V40116-000600 S .W 1| 1] M6
49-15 V30026-000600 F o b 1| 1) M6
49-16 1444-621-2301-0 | e o —X A5 7 A ASSY 111
49-17 1423-621-2010-0 | * & — A (15) 8| 8| 154A
49-18 V11116-500160 J5A FR AFRY 2| 2| M5%0.8x16
49-19 V40116-000500 S.W 2| 2| Ms
45--20 1423-621-2110-0 | 348 737 1] 1
4921 1423-621-2120-0 | Y ¥ » ¢ 1|1
49—22 1444-621-3000-0 | F =2 A4y F AS3SY 1| 1

74



T ¥ B

RHES % 3-F an % Smgi iR % %
50- 1 1444-621-0093-0 | "4+ ~—%=x ;1 1] 1

50— 2 1444-621-0113-0 | 74+ ~—%Rx M2 1|1

50—~ 3 1444-621-0121-0 | 74+ ~—% R 43 1|1

50- 4 1444-621-0130-0 | 74 ¥ ~—%A /44 2| 2

50- 5 1488-621-0060 TA¥Y ~—FZA M5 111 C,H#EH
50- 6 1488-622-0020-0 | 94+ ~—%zZ2 M1 111

50- 7 1488-622-2200-0 | 74 ¥ ~—%Ax /42 ASSY 1] 1 GRA
50- 8 1446-622-2520-0 | ¢ #A4 4 — F 1|1

50- 9 1444-621-0030-0 { £ =% & -7 (L=700) 1] 1

50-10 1444-621-2800-0 | A+ » 7 94+ ASSY 1|1

50-11 1421-621~0070-0 | * =25 H 27 5 b (M4) 111

50-12 1421-621-0081-0 | e » 7 1|1

50-13 V30026-000500 eF ok 1] 1|Ms

50-14 V50015-160100 7y vy 1| 1|16x%x10

50-15 V41316-000500 FivwA FHx 1| 1(|Ms

50-16 1376-402-0030-0 | 74+ .{vF (140) 6| 6 GEiz7 ¥
50-17 1426-621-0380-0 | ~~%=x 25 7 ( &4) 4| 4

50-18 1425-621-0040-0 | ~—% 2 25w 6| 6

50-19 3737-172-0090-0 AAY n—FA g5 vE) 1 1

50-20 1444—621-0080-0 | A¥—F o5~ 2] 2

50-21 1444-621-2400-0 [ #—-> w2730 5+ 7 ASSY 21 2

50-22 1444-621-2420-0 e 2 2112V, 20W

50-23 1444-621-2430-0 | e v X 4] 4

50-24 133226-001000 T b (kv 2) 2| 2|Mi0 (3%&)

50-25 V40116-001000 Y 21 2|M10

i

75



!

I

=
3

BHES B & 33— K nn % s | 3 fis =3
50-26 1444-621-2500-0 | ~» ¥ J v 7 ASSY 2] 2

50-27 1444-621-2510-0 | <A 7 2| 2

50-28 e S5vVS ==, b 2| 2

50~-29 V20126-080120 aFE HEAb 4| 4| M8x12
50-30 V40116-000800 S.W 4| 4 | M8
50-31 V41316-000800 FIivTN FHF 4| 4 | M8
50-32 1444-621-2700-0 | 54+ xF7— COMP 2| 2

50-33 V20026-060120 Fa b 4| 4| Mex12
50-34 V40116-000600 S.W 4| 4| M6
50-35 V41316-000600 FIiwL FHF 4| 4| M6
50-36 1416-621-0440-0 | h— v 1] 1

50-37 V20026-060120 HF b 2| 2| M6x12
50-38 V40116-000600 S.W 2| 2| M6
50-39 V30026—-000600 ¥ 5 b 2| 2| Ms
50-40 1415-621-0160-0 | #— 354 H5—(L14-7) 2| 2

50-41 1421-621-0380-0 | A4 ¥ L ¥ (170) 3|3

50-42 V20126-080160 aHFE Erb 1| 1|M8x16
50-43 V40116-000800 S.W 1| 1|M8
50-44 1342-402-0060-0 | 74+ {v ¥ (250) 1] 1

76



3|8
41 | 434042 3'%
5° L@gg@
}1
Tk
48 | %E&
49 463
29 47—
i 45—B
| i
37 3|3 26 27 25
24
RYES B& a-—- K £ % s@ﬁ;‘ #H ¥ ]
51- 1 | 1446-622-2000-0 | ¥ Vs= AL +F ASSY il 1 )
51- 2 | 3614-262-2300-0 | ACD 755>= ==,} ASSY 1] 1
51- 3 | Vi1116-300060 s FFAR FX axy 21 2| M3x05%X6
51- 4 | V40116-000300 ‘S.-W 2| 2| M3
51- 5 | 3614-262-2310-0 | « 755>, ==y} 1] 1
51- 6 | V20026-060160 Fa b 1| 1| M6%16
S51- 7 | V30026-000600 Fs b 1{ 1| M6
51- 8 | V40116-000600 S.W 1| 1| M6
51- 9 1488-622-2000-0 | PTO v-*— A4 ,F ASSY 1] 1
51-10 1488-622-2020-0 | + 24 vF Lo 1| 1
51-11 1 1488-622-2030-0 | - FTx'-'/ 1) 1 L GmE
51-12 | 1488-522-2040-0 | - =2—F(A) 11
51-13 1488-622-2050-0 | +=—F(B) 1| 1
51-14 1488-622-2060-0 | -a—F(C) 1f 1
51-15 1446-622-2300-0 | PTQO F=vy A4 ,% ASSY 11
51-16 1446-622-2320-0 | - 74+ ~—F=x (D) 1] 1
51-17 1446-622-2330-0 | - A4+ ~—%A(E) 1] 1
51-18 1446-622-2340-0 | +94+% ~—%x(F) 1] 1
51-19 1446-622-2350-0 | - 74% ~—%=x(G) 1) 1
51-20 | V11116-400250 F5A F< oz 1] 1] Max0.7x25
51-21 | V40116-000400 S.W 1 1| M4
51-22 | V41316-000400 F I EHE 1{ 1| M4
51-23 | V30026-000400 > b 1| 1| M4x0.7
51-24 1446-622-2400-0 | vis b+ A4 »F ASSY 1| 1
51-25 1446-622-2420-0 | - 74 ~—xA(H) 1] 1

4
~




!

RHES T I & N 3 % i E
51-26 | 1446-622-2430-0 | -4+ ~—xx2(1) 1| 1

51-27 | 1446-622-2440-0 | - 944 —x2(]) 1] 1

51-28 | 1446-622-0020-0 | 24 , 57 L— b 1] 1

51-29 | V11116-600120 F5A FN aFu 2| 2| M6x12

51-30 | V41316-000600 FiwA FHE 1| 1| M6 | g
51-31 | V40116-000600 S -W 2| 2| M6

51-32 | V30026-000600 Fu b 2| 2| M6

51-33 | 1446-622-0030-0 | T4 i 1 1

51-34 | V11116-400300 TSR FN mx 2| 2| M4x0.7x30
51-35 | V40116-000400 S-W 2| 2| M4

51-36 | V30026-000400 Fy b 2| 2| M4xo0.7

51-37 | V41316-000400 FIwA FHE 2| 2{ M4

51-38 | 1423-600-0520-0 | v—» Sv7 ASSY 1| 1 *
51-39 | 1423-621-0050-0 | - vvx 1 1 *
51-40 | 1423-621-0200-0 | - Fv#a-v 1| 1 *
S1-41 1423-621-0060-0 | - X5 — 1) 1 *
51-42 | 1423-621-0070-0 | - LvX .ty %v 1] 1 *
51-43 | 1423-621-0080-0 | - 27V v 7 11 S
51-44 | V20126-080160 | . axx it 1 1| M8x16 %
51-45 | V30026-000800 Fo b 1| 1| M8 *
51-46 | V41316-000800 FIwA FHE 2| 2| M8 *
51-47 | V40116-000800 S.W 1| 1| M8 *
51-48 | 1421-621-0370-0 | 94 % ~—x2x(411) 1| 1 *
51-49 | 1421-621-0360-0 | ~—%A 257 1| 1 &
51-50 | 3622-822-0080-0 | & 7,a 1| 1 *

78



DAY Y 554 Y5 T4

Fig 52

M0Z(H)-UT¥G 07 (D-UTHG M T ,mﬁmlu R B ,m g oy £-sx
] yo ] 5 A
S Mlm.o g AR £0pyrica
S = al s o] A _ _Hm.!w||m.l . )
T EE ™ % T¥ewoorzii
Al x| X i M 2] .43‘_\_:5-»_
. —
= = ¥ HQ“V e
_I“Q:E‘un kg\ﬁuv.mu we ;Mn\.u.h.\.?ﬂ E
(1d0) s ~ = MG3/62
trgapLs 458 mljm ()4 irv
, g 209 (W) ey .
AErE { ———
i mo 7 =
LPJ vy | A
- 02/ 52
ey
&N _ ST AWEEC - ~
T 3] T
X AAAN Y @& peud
A L el ] 0¢ S EEINE m:..__ lalal Al
20 —g g wisatS BT ful®[alblefxolKs : ——
alyla []
P Al +4p¥ ~nio1d 1817 + S
LTFOLd | @u@ <} - by
5 \ e P - o
_l D WO0S2 71006271 _ L o )
—— [ @ || —s@
Y
: — K& 5
JAsTariil [ | Iivw Xga X -ca AR ( L-bEAT
& \ —
| 3 il — 5 F
oy 7 s_.a_. YL ~gt i. = |
N
2 N —
Y «E.s\aﬁ A S8 L -
LEpLin A ¥ s
R e E PG
$yY~2i101d m_ () g @ o
,w\cvx ps — ¢
A0TH0Ld ©)
m -
O i i JQH@ IJ@ -F
Foyrd LOyLE-6Y L6 g —

o o I
HWHwooLe L




RHES | B & O — K & # ;mi R .} x
53— 1 1507-901-0010-0 | +4 ¥ —<=—2 (C,L) 1|1 CHE A
53— 1-1} 1507-902-0010-0 | ¥4 F =<=—7 (H,L) 1|1 H, GEA
53— 2 | 1507-901-0020-0 | ¥4 F <=—27 (C,R) 1|1 CHRA
53— 2-1| 1507-902-0020-0 | A4 ¥ =<=—7 (H,R) 1)1 H, GRA
53— 3 1444-901-0030-0 | 73X =—27 (C) 21 2 CHA
i3— 3-1| 1444-902-0030-0 [ 75 A2 ~<—2 (H) 2| 2 H& A
53— 3-2| 1446-903-0010-0 | #3 &2 =—7 (@) 2| 2 a®
53~ 4 1444-901-0040-0 | ¥+ » 7 —=— 27 (C) 1] 1 CHME
53— 4~1| 1444-902-0040-0 | ¥+ 7 =—27 (H) 1] 1 H#MA
53— 4-2| 1446-903-0020-0 | ¥+ » 7 =—7(G) 1|1 GHEH
53—~ 5 1507-901-0030-0 | %A =—7 (C,L) 1] 1 cR
53- 5-1| 1507-903-0010-0 | %A =-7(G,L) 1] 1 GIHA
53— 6 1507-901-0040-0 | <F 1 =—7 1] 1 CH
53— 6-1{ 1507-903-0020-0 | <%k =— 7 (G,R) 1| 1 GH
53— 7 1444-901-0070-0 | £=% =—7 (C) 1| 1 cH
53— 7-1| 1446-903-0050-0 | £=2% —<=—7 (G) 1] 1 GEA
53- 8 1431-931-0041-0 | 4 &% =<—7 2| 2
53— 9 1480-901-0030-0 AB 4 b =w—7 1 1
53-10 V40116-000500 S.W 6| 6| M5
53-11 V40026-000500 + v b 212 | M5
53-12 V41126-000500 N e 6| 6| Ms
53-13 1444-601-0150-0 | o+ 75 v x (6x14%3) 6| 6
53-14 V35016-000600 AE—F F9 + (P) 6| 6
53-15 1446-903-0060-0 | M.U.D. =—7 1] 1
53-16 1444-904-0012-0 | T4 A ~<=—7 1)1

80



AHES l & ad-— K 7] S Sﬁﬁ;‘ % %
53-17 1444-904-0020-0 | PTO —<=—7 1] 1
53-18 1507-904-0010-0 | 94 ¥ Vv sy =—7 i1
53-19 1444-904-0040-0 | =7¥Y =aYbra—a =—7% 111
53-20 1444-904-0050-0 | Y7 ¥ —<=—2 11
53-21 1444-904-0060-0 | ¥4 F v It =—7 1)1
53~22 1444-904-0070-0 | =vov Rbo 7 =—7 1)1
53-23 1444-904-0080-0 |FE} UvAiA—- =—7 1|1
53-24 1444-904-0090-0 |=2—% =—7 11
53-25 1444-601-0150-0 |F o b T35 v+ (6%x14%x13) 3|3
53-26 V35016-000600 AE—-F Fo b (P) 313(6
53-27 1421-903-0100~0 |7 a—=n =—17 111
53-28 1421~903-0110-0 | F5A4 7 a—vsv =—y 1(1
53-29 1421-903-0130-0 [F¥7®m s 7 <=7 1 {1
53-30 1444-904-0120-0 | F53A4 7 =—7 1{1
53-31 1424-903-0060-0 | w57 —=—2(B) 1] 1
53-32 1507-907-0010-0 |Fv . =—2 1
53-33 1507-908-0010-0 |*>. =—7(F) 1
53-34 1444-908-0020-0 |Z7evtr Fxvy =—7 1
53-35 1444-904-0110-0 |74 1% =—y 111
53-36 7963-905-0040-0 |=—27(=—%1) 4 [ 4
53-37 7963-905-0050-0 |~v—2 (v /%) 4| 4
53-38 1444-902-0050-0 |MU —<=—7 111 HEH

81




BHES &S I — K an 4 s|F ) % i *
54— 1 1421-906-0010-0 | £y 72 A5+ (22) 1] 1
54— 2 1401-906-0050-0 | A H% vvF 1] 1
54— 3 | V92055-080100 Va2 rF: RAF(=) 1] 1{8x10 (N)
54— 4 V92055-120140 Yaw ¥ RAy (=) 1] 1{12x14 (N)
54— 5 V92055-130170 Va5 ARAF(=) 11 1]13x17 (N)
4— 6 V92055-190220 Yasrs ARAF(=n) 1| 1]19%x22 (N)
54— 7 V92055—240270 YVewsrFs ASXF(=n) 1 1] 24%x27 (N)
54— 8 V93625-001500 T4 1| 1(150
54— 9 1421-906-2000-0 | #+¥H= F354.5 ASSY 1] 1
54-10 1421-906-2010—0 | » FF A% 1] 1
54-11 1421-906-2020-0 | ¢ 7V » 7 141
54—12 1421-906-0020-0 | 7V x HvF 1] 1
54-13 V96000-000010 775 v 1| 1
54—14 1421-906-0030-0 | v+ 4% ¥ va¥ AU 1| 1
54-15 K== Fga= 1| 1]170%240
54-16 1422-900-0510-0 | 1.8 b ¥ =7 Y 4 »% ASSY 11
54—17 1422-906-0010-0 | e 1.8 F ¥ =7 Y D%y F 1] 1
54-18 1422-906-0020-0 | e 2% » F L <— 11 HEIREA
54-19 1422-906-2000-0 | 2 FY =7Y 24 »* ASSY 11
54-20 1422-906-2010-0 | e 2 b ¥ =T Y 4 9F 111
54-21 1422-906-2020-0 | ¢ v o F L.{i— 1] 1
54-22 1421-906-0040-0 | =7 & — 1|1
54-23 1444-621-2420-0 | ~<n 7 1] 1[12V/20W
54-24 1444-621-2510-0 | ‘a7 1| 1]12V 25/25W
54-25 1421-502-0020-0 [ Y v 27 €V 2| 2
54-26 7957-405-0030-0 | ~7— v(12=n) 2| 2
54-27 1444-954-0010-0 | 75, + +v% 1] 1 *

82



Fig.55 7 T 1

RHES | B & 1 — K & % ;Miﬁ 2B | ®
55- 1 1444-952-0010-0 | -{v.3 o =4} 6| 6| M12x55(vox)| *
55- 2 W20126-120550 axE Eatb 6| 6| M12 (3%) *
55— 3 V30226-001200 F o b 6| 6 *
55— 4 1445-952-2000-0 | 7m v+ &AL v x=AFr S8BT 1 *
55— 5 1445-952-2010-0 | e 7 v} HANL Y=A b 4 *
55- 6 V20126-120300 exH&x Hab 8 M12x30 *
55— 17 V40116-001200 3. W 8 M1 2 *
55— 8 V41316-001200 e F IwA FHFR 8 M12 *
55- 9 1444-952-0020-0 | Vv &AL v=aF (A) 21 2 *
55-10 1444-952-2200-0 | £+ (A) COMP 8| 8 *
55-11 V30026-001600 F 5 b 16 Mi16 *
55-12 V40116-001600 S. W 16 Mi16 *
55-13 V41316-001600 FIwA FHFR 16 M16 *
55-14 1444-952-0030-0 { V¥ kA4 =4} (B) AR | AR *
55-15 V20126-160400 aFE EAb 8| 8| M16x40 *
55-16 V20126-160750 ax s Ent 8| 8|M16x75 *
55-17 V20126-161100 aHE Kb 8| 8| M16x%x110 *
55-18 V20126-161500 aFE Hrb 8| 8| M16x150 *
55-19 V40116-001600 S. W 3] B|Mib *
55-20 V41316-001600 FiwnA Fyzx 8| 8|Mi6 *

83




ER 51

& a2 - F RHE &S MEa - F RE&ES
1302-225-0030-0 | 33713 21711 28- 8 4 1414-207-0050-0 20-10
1305-931-0030-0 42-42 1414-312-0020-0 47-17
1326-706-0020-0 15- 8 1415-101-0400-0 3- 3
1326~708-0050-0 8-32 1415-102-0090-0 24— 2
1342-402-0060-0 50-44 1415-102-0110-0 24- 5
1365-707-0030-0 16-15 17-29 1415-102-0120-0 24— 6
1366-229-0211-0 28-17 1415-102-0130-0 24— 1
1376-402-0030-0 50-16 1415-120-0040-0 23-17
1401-122-0050-0 22-15 34-18 1415-121-0090-0 23- 4 23-13
1401-304-0110-0 28-24 1415-216-0060-0 28-28 30-15
1401-520-0090-0 26-30 1415-401-0030-0 8- 6
1401-906-0050-0 54— 2 1415-401-0040-0 8-10
1402-501-0170-0 20-13 1415-403-0020-0 8-22
1402-511-6000-0 42-46 1415-403-0050-0 8-41
1402-621-0140-0 48— 6 1415-403-0060-0 8-23
1403-921-0010-0 26-29 1415-411-0010-0 12— 1
1403-207-0010-0 20- 9 1415-505-0060-0 36-10
1403-209-0060-0 37- 9 37-12 1415-505-0140-0 7-31
1403-312-0030-0 22-20 34-11 1415-621-0160-0 50-40
1403-401-0270-0 8-42 1415-621-0170-0 48-14
1404-101-0010-0 22- 4 1416-505-0030-0 37-20
1404-301-0100-0 31- 4 1416-511-4000-0 42-11
1404-401-0170-0 8-18 8-33 1416-621-0440-0 50-36
1404-402-0010-0 8-49 11-36 1417-102-0050-0 1-13 33-19
1404-402-0050-0 8-52 11-39 1417-621-0020-0 48— 4
1404-411-1000-0 12— 6 1419-101-0100-0 2- 4
1404-502-0130-0 37- 6 1419-101-0130-0 2- 8
1404-503-0060-0 | 7-16 40-10 41-10 | 1421-101-0010-0 14-31
1404-503-0090-0 | 7-18-40-12 41-12 | 1421-101-0120-0 1-10
1405-401-0060-0 8-34 1421-101-3130-0 1- 3
1407-111-0010-0 24-18 1421-102-0011-0 24-11
1407-201-0110-0 20-21 28-10 1421-111-2100-0 24-20
1407-402-0010-0 8— 2 8-13 1421-116-0020-0 25-11
1407-406-0020-0 14- 2 1421-201-0030-0 11-18
1107-406-0040-0 14- 3 1421-131-2110-0 2- 3
1411-411-0020-0 12- 2 1421-131-2220-0 2- 6
1411-411-0030-0 12- 5 1421-134-0190-0 | 10— 3 18- 2 19- 2
1414-120-0060-0 §-24 29-15 1421-301-0120-0 31- 9




a2 — K

R &ES

R &=

1421-312-0020-0
1421-400-0520-0
1421-400-0540-0
1421-400-0550-0
1421-46G3-06010-0
1421-403-0020-0
1421-403-0030-0
1421-433-0012-0
1421-433-0040-0
1421-433-0091-0
1421-433-0141-0
1421-433-0161-0
1421-433-0220-0
1421-433-0230-0
1421-433-0241-0
1421-433-0310-0
1421-436-0021-0
1421-502-0020-0
1421-507-0070-0
1421-507-0130-0
1421-507-0140-0
1421-507-0150-0
1421-600-0520-0
1421-606-0020-0

1421-611-0020-0
1421-621—-0010—-0
1421-621—-0020-0
1421—-621—-0070~0
1421-621—-0081—0
1421-621—-0360-0
1421-621—-0370-0
1421-621—0380—-0
1421-621-0390-0
1421—-621—0410-0
1421-621—2100-0
1421—-903—-0100-0
1421-903—-0110-0
1421-903—-0130—-0
1421-906—0010—-0
1421-906—0020-0

29-21 34- 4
14- 1
8-45 11-33
11-34
8-54 11-31
8-55 11-32

8-50 11-37

11-20
11-21
11-24
8-29 11- 9
6-26
26-31 42-50 54-25

38-13
38-25
38-26
38-217
48- 1
44-10
46— 3
48— 2
48— 3
50-11
50-12
51—49
51—48
50—-41
4-52
4-53
4-50
53-27
53-28
53-29
54— 1
54—-12

1421-906-0030-0
1421-906-0040-0
1421-906-2000-0
1421-906-2010-0
1421-906-2020-0
1421-951-0080-0
1421-951-0090-0
1422-687-0010-0
1422-500-0510-0
1422-906-0010-0
1422-906-0020-0
1422-906-2000-0
1422-906-2010-0
1422-906-2020-0
1423-400-0520-0
1423-600-0520-0
1423-621-0050-0
1423-621-0060-0
1423-621-0070-0
1423-621-0080-0
1423-621-0200-0
1423-621-0210-0
1423-621-2010-0
1423-621-2110-0
1423-621-2120-0
1423-951-0010-0
1423-951-0020-0
1424-101-0040-0
1424-101-2030-0
1424-101-2040-0
1424-903-0060-0
1425-621-0040-0
1426-402-0011-0
1426-621-0350-0
1426-621-0360-0
1426-621-0380-0
1427-207-0050-0

1427-301-0050-0

54-14
54-22
54- 9
54-10
54-11
11-10
11-11
48-10
54-16
54-17
54-18
54-19
54-20
54-21

8-47
51—-38
51-39
51—-41
51—42
51—43
51-40
48— 5
49-17
49-20

49-21

85




& 2 — K B HES ;g a3 — K R d#&H =
1427-301-0080-0 10-36 1444-101-3400-0 5- 5
1127-317-0040-0 15- 7 26—32 | 1444-101-3500-0 2-14
1427-432-0020-0 10-30 1444-101-3600-0 2- 1
1427-432-0030-0 10-32 1444-101-3700-0 2 2
1427-432-0040-0 10-34 1444-101-3800-0 2- 5
1427-432-0050-0 10-35 1444-101-3900~-0 2- 17
1427-601-0030-0 30-27 1444-101-3920-0 2- 9
1430-203-0060-0 27-31 1444-101-4000-0 2-10
1431-931-0041-0 53- 8 1444-101-4100-0 3- 1
1432-117-0010-0 25-25 1444-101-4201-0 3- 4
1432-120-0040-0 23— 9 1444-101-4300-0 3-8
1432-242-0040-0 26-25 38-24 1444-101-4400-0 3- 9
1432-313-2000-0 34-19 1444-101-4501-0 3-14
1432-403-2260-0 34- 7 42-28 1444-102-0010-0 24-10
1432-406-2120-0 8-53 1444-102-0030-0 24-12
1432-406-2120-0 11-40 1444-102-0040-0 24-13
1432-602-0070-0 5-17 5-21 1444-102-2000-0 24- 1
1432-616-0020-0 47— 7 1444-102-2040-0 24- 3
1434-503-0020-0 38- 6 1444-102-2100-0 24-14
1444—-050—2101-0 38-—34 1444-111-0010-0 5-20
1444-101-0011-0 1= 8 1444-111-0020-0 5-26
1444-101—0020-0 1- 9
A O DE=0 5_ 6 1444-111-2000-0 24-17
1444—101—0040—0 5-10 1444-111-2200-0 24-21
1444-101-0050-0 5-11 1444-111-2300-0 24-22
1444-101-0060-0 2-11 1444-111-2400-0 24-25
1444-101-0070-0 3- 2 1444-111-2500-0 3-17
1444-101-0080-0 3- 5 1444-116-0020-0 25- 7
1444-101-0090-0 3-15 1444-116-0030-0 25- 9
1444-101-0110-0 3-16 1444-116-0041-0 25-10
1444-101-0120-0 1-12 1444-116-0060-0 25-19
1444-101-0130-0 5-15 1444-116-0070-0 25-20
1444-101-0140-0 5-16 1444-116-0080-0 25-21
1444-101-0150~0 5-19 A 1 A= 25— 1
1444-101-0160-0 1-15 12200200 NS il
1444-101-3000-0 3-21

47-14
1444-101-3120-0 1- 2 1444-122-0032-0
1444-101-3200-0 5= 1 1444-122-0040-0 22-19
1414-101-3300-0 5- 2 1444-122-2201-0 23-

86



B & a3 — K AR Y E= R 2-—-F R i &=
1444-122-2301-0 22-11 1444-306-0090-0 27-32
1444-201-0020-0 15-10 1444-306-0110-0 27-33
1444~-201-0030-0 15-13 1444~306-0120-0 27-23-1
1444-201-0040-0 15-14 1444-306-2001-0 27-15
1444-201-0050-0 15-15 1444-307-0011-0 28— 1
1444-207-0030-0 16-10 17-21 1444-307-0040-0 28— 17
1444-208-0010-0 18— 1 1444-307-0050-0 28-22
1444-208~-0020-0 18— 4 1444-307-0060-0 28-35
1444-208-0030-0 18- 5 1444-307-0070-0 28-39
1444-209-0010-0 18- 1-1 19- 1 1444-307-0080-0 28-40
1444-209-0020-0 18— 8 19- 5 1444-307-0110-0 28-16
1444-209-2000-0 18-12 19- 9 1444-307-2000-0 28-13
1444-209-2100-0 18- 9 19- 6 1444-307-2101-0 28-14
1444-209-2200-0 18-10 19- 7 1444-307-2201-0 28-15
1444-209-2300-0 18-11 19- 8 1444-307-2400-0 28-20
1444-211-0020-0 18-16 19-13 1444-307-2500-0 28-21
1444-212-0010-0 19-10 1444-307-2600-0 28-27
1444-213-0010-0 16-13 17-27 1444-307-2700-0 28-30
1444-213-0020-0 16-14 17-28 1444-307-2900-0 28-32
1444-215-0030-0 18-23 19-24 1444-309-0011-0 21- 1
1444-218-0010-0 20— 1 1444-312-0010-0 21-10
1444-218-0020-0 20— 6 1444-312-2000-0 21-15
1444-218-0030-0 20— 7 1444-312-2100-0 21-17
1444-218-0040-0 20-12 1444-312-2200-0 21-20
1444-218-0050-0 20-16 1444-312-2300-0 26-24
1444-218-0060-0 20-17 1444-314-0010-0 29- 1
1444-218-0070-0 20-18 1444-314-0020-0 29- 2
1444-218-0080-0 20-24 1444-314-0030-0 "29- 3
1444-219-0010-0 20-12-1 1444-314-0040-0 29- 6
1444-219-0020-0 20-16-1 1444-314-0050-0 29- 8
1444-219-0030-0 20-18-1 1444-314-0060~0 29-11
1444-301-0021-0 26— 8 1444-314-0070-0 29-12
1444-301-0030-0 26-12 1444-314-0080-0 39-14
1444-301-0040-0 26-13 1444-314-0090-0 29-16
1444-306-0040-0 27-22 1444-315-0010-0 30- 1
1444-306-0050-0 27-23 1444-315-0020-0 30- 2
1444-306-0060-0 27-27 1444-315-0030-0 30- 6
1414-306-0070-0 27-28 1444-315-0040-0 30— 8

87

-

raeen)

oY i 35 P e

e e g —



}W&E a3 —- K

RE&ES

A&

1144-315-0050-0
1444-315-0060-0
1444-315-0073-0
1444-315-0081-0
1444-315-2000-0
1444-315-2100-0
1444-315-2200-0
1444-315-2300-0
1444-317-2002-0
1444-317-2102-0
1444-317-2201-0
1444-318-0010-0
1444-318-0020-0
1444-318-0030-0
1444-318-0040-0
1444-318-0050-0
1444-318-0061-0
1444-318-0070-0
1444-318-0080-0
1444-318-0110-0
1444-318-0120-0
1444-319-0010-0
1444-319-0020-0
1444-319-0030-0
1444-319-2000-0
1444-319-2101-0

1444-321-0010-0
1444—321-0020-0
1444—-324-0040-0
1444—-324—-0050-0
14414-324-0060-0
1444-327-0010-0
1444-327-0030-0
1444-327-0040-0
1444-327-0050-0
1444-327-2001-0

1444-327-2011-0

30-11
30~12
30-24
30-26
30-14
30-17
30-19
30-23
26-17
26-18
26-21
31- 1
31— 2
31- 3
31- 6
31— 17
31- 8
31-10
31-11
31-13
31-14
31-21
31-22
31-26
31-23
31-25
32— 1

32— 2

32-11

32-17

32-18

= B

33-15

33-17

33-18

1444-327-2021-0
1444-327-2030-0
1444-327-2111-0
1444-327-2121-0
1444-327-2131-0
1444-327-2200-0
1444-328-0010-0
1444-328-0020-0
1444-328-0030-0
1444-328-0040-0
1444-328-2000-0
1444-328-2300-0
1444-328-2500-0
1444-328-2700-0
1444-401-2001-0
1444-404-2100-0
1444-406-0010-0
1444-406-0020-0
1444-406-0030-0
1444-406-0040-0
1444-406-0050-0
1444-406-0060-0
1444-406-0070-0
1444-406-0090-0
1444-406-0110-0

1444-406-2001-0
1444—406—2202-0
1444—406—2400-0
1444—406—2500-0

1444—406—2600-0
1444-407-0010-0
1444-407-0020-0
1444-407-2200-0
1444-407-2210-0
1444-407-2220-0
1444-408-0021-0

1444-408-0040-0

33— 6

33—

-1

[ae

33—
33— 3
33- 4
33-14
34— 5
34-13
34-21
34-27
34— 1
34— 9
34-26

34-20

8—-46 11-35

=17

14-15
14-16
14-24
14-25
14-26
14-29
14-30
14-35
14-36
14— 17

14—10

14-19

40-11 11-11

88



s a-—- F REES L3 - F R &=
1444-408-0051-0 7-24 1444-501-0010-0 36~ 1
1444-408-0060-0 7-29 1444-501-0020-0 37-26
1444-408-0070-0 7-37 1444-501-0030-0 37-27
1444-408-0080-0 7-38 1444-501-0040-0 37-28
1444-408-2001-0 7-1 1444-502-0010-0 37— 1
1444-408-2010-0 7- 2 1444-502-0020-0 37- 5
1444-408-2400-0 7T-20 1444-502-0030-0 37- 8
1444-408-2600-0 7-25 1444-502-2000-0 37— 3
1444-408-2700-0 7-30 1444-502-2010-0 37— 4
1444-408-2800-0 7-33 1444-502-2100-0 37-11
1444-410-0010-0 10- 1 1444-502-2200-0 37-14
1444-410-0020-0 10- 8 1444-503-0010-0 36— 8
1444-410-2000-0 10— 4 1444-503-0020-0 36-11
1444-410-2100-0 10— 5 1444-503-0030-0 37-38
1444-411-0011-0 10-16 1444-503-0040-0 37-39
1444-411-0020-0 10-17 1444-503-0050-0 36-12
1444-411-0030-0 10-25 1444-503-0060-0 37-18
1444-411-0040-0 10-26 1444-503-0070-0 37-16
1444-411-0050-0 10-27 1444-503-2001-0 37-31
1444-411-0060-0 10-31 1444-503-2100-0 37-33
1444-411-0070-0 10-41 1444-503-2200-0 37-15
1444-411-2001-0 10-13 1444-503-2301-0 37-25
1444-412-0010-0 9- 3 36- 1444-505-0010-0 38— 1
1444-412-0020-0 9— 4 1444-505-0021-0 38-11
1444-412-0030-0 6-19-1 1444-505-0030-0 38-19
1444-412-0040-0 6—~217 1444-505-2001-0 38— 2
1444-412-0050-0 6~20-1 1444-505-2100-0 38— 5
1444-412-0061-0 6-29 1444-505-2200-0 38— 9
1444-413-0021-0 9- 8 1444-505-2301-0 38-16
1444-413-0041-0 9-14 1444-506-2000-0 38-20
1444-413-0051-0 9-16 1444-506-2100-0 38-23
1444-413-0111-0 11- 6 1444-507-0010-0 38-35
1444-413-0121-0 11- 7 1444-507-0020-0 39-26
1444-413-0131-0 11-15 1444-507-0030-0 3¢ 27
1444-413-0140-0 13— 8 1444-507-2001-0 38-34
1444-413-0151-0 11-19 1444-507-2201-0 39- 4
1444-413-0170-0 13—-11 1444-507-2301-0 39- 9
1444-413-2102-0 11- 1 1444-507-2400-0 39-16

19




8F & o — F R &S s 3 — F ARE &S
1144-507-2500-0 39-19 1444-601-0080-0 4-23
1444-507-2600-0 39-22 1444-601-0090-0 14-40
1444-507-2700-0 39-23 1444-601-0110-0 14-41 45-34
1444-510-0020-0 40-14 41-14 1444-601-0120-0 4-29
1444-510-0030-0 40-22 41-20 1444-601-0130-0 4-30
1444-510-0040-0 40-23 41-21 1444-601-0140-0 4-34
1444-510-0051-0 40-30 41-35 1444-601-0150-0 4-36 53-13 53-25

1444-510-0080-0
1444-510-0090-0
1444-510-2201-0
1444-510-2220-0
1444-510-2250-0
1444-510-2260-0
1444-510-2270-0
1444-510-2290-0
1444-510-2310-0
1444-510-2400-0
1444-510-2500-0
1444-514-0010-0
1444-514-0020-0
1444-514-0030-0
1444-514-0040-0
1444-514-0051-0
1444-514-0060-0
1444-514-2000-0
1444-514-2100-0
1444-514-2300-0
1444-514-2401-0
1444-514-2801-0
1444-514-2900-0
1444-514-3000-0
1444-601-0010-0
1444-601-0020-0
1444-601-0030-0
1444-601-0040-0
1444-601-0050-0
1444-601-0061-0

1444-601-0070-0

4
4

0-
1__

33 40-47
2

w

40-46 41-51
40-35 41-40
40-36 41-41
40-39 41-44
40-40 41-45
40-41 41-46
40-38 41-43
40-42 41-47
40-48 41-53
40-37 41-42
42- 3
42— 8
42-39
42-41
42-48
42-49
42- 1
42— 2
42-17
42-21
42-43
42-45

42-44

41-38

1444-601-0170-0
1444-601-0180-0
1444-601-0190-0
1444-601-0210-0
1444-601-0220-0
1444-601-0230-0
1444-601-0250-0
1444-601-0260-0
1444-601-0260-0
1444-601-0280-0
1444-601-2001-0
1444-601-2301-0
1444-601-2401-0
1444-601-2500-0
1444-601-2611-0
1444-601-2700-0
1444-604-0010-0
1444-604-0020-0
1444-604-0030-0
1444-604-0050-0
1444-604-0060-0
1444-604-0070-0
1444-604-0080-0
1444-604-0090-0
1444-604-2000-0
1444-604-2101-0
1444-604-2200-0
1444-604-2300-0
1444-604-2500-0
1444-604-2600-0

1444-604-2700-0

43-22
43-23
43-11
43-24
43— 5
43- 1
43— 2
43- 6
43- 7
43-13
24-30

24-31

90



RH &S

& 2 — F e a-—- F R HEHES
1444-604-2802-0 43-16 1444-621-2500-0 50-26
1444-606-0010-0 44- 6 1444-621-2510-0 50-27 54-24
1444-606-2001-0 44— 1 1444-~621-2600-0 47~-18
1444-606-2201-0 44~ 2 1444-621-2700-0 50-32
1444-607-0010-0 45— 6 1444-621-2800-0 50-10
1444-607-0020-0 45-14 1444-621-2900-0 4-51
1444-607-0030-0 45-19 1444-621-3000-0 49-22
1444-607-0040-0 45-26 1444-621-3200-0 49- 5
1444-607-2000-0 45— 1 1444-901-0030-0 53- 3
1444-607-2001-0 45-45 1444-901-0040-0 53— 4
1444-607~2100-0 45— 2 1444-901-0070-0 53— 7
1444-607-2201-0 45— 5 1444-902-0030-0 53— 3-1
1444-607-2401-0 45— 7 1444-902-0040-0 53— 4-1
1444-607-2510-0 45-18 1444-902-0050-0 53-38
1444-607-2610-0 45-25 1444-904-0012-0 53-16
1444-607-2700-0 45-33 1444-904-0020-0 53-17
1444-607-2800-0 45-37 1444-904-0040-0 53-19
1444-607-2901-0 45-41 1444-904-0050-0 53-20
1444-616-0011-0 47— 4 1444-904-0060-0 53-21
1444-616-2201-0 47-10 1444-904-0070-0 53-22
1444-616-2300-0 47-11 1444-904-0080-0 53-23
1444-621-0021-0 48-11 1444-904-0090-0 53-24
1444-621-0030-0 50— 9 1444-904-0110-0 53-35
1444-621-0060-0 49— 7 1444-904-0120-0 53-30
1444-621-0070-0 24-32 1444-908-0020-0 53-34
1444-621-0080-0 50-20 1444-952-0010-0 6—-31 55- 1
1444—621-0093-0 50— 1 1444-952-0020-0 55— 9
4 8SA=HAI=URTEZ0 S0= 2 1444-952-0030-0 55-14
1444—621-0121-0 50— 3
1444-621-0130—0 50— 4 1444-952-2200-0 55-10
1444-621-0160-0 43—28 44-15 || 1444-954-0010-0 54-27
1444-621-0170-0 49— 2 1445-120-0020-0 23- 8
1444-621-0180-0 49— 3 1445-120-2000-0 23— 1
1444-621-2000-0 48— 7 1445-120-2010-0 23— 2
1444-621-2100-0 49— 1 1445-514-0010-0 §2-23
1444762123010 49-16 1445-514-0020-0 42-24
1444-621-2400-0 50-21

1445-514-0030-0 42-27
1144-621-2420-0 50-22 54-23
1444-621-2430-0 5023 b8e=0 1 S U0 42-29

91




& a3 F

Ru&S

& - F

R E S

1445-514-0050-0
1415-514-2000-0
1445-514-2100-0
1145-514-2200-0
1445-514-2300-0
1445~514-2400-0
1445-514-2500-0
1445-952-2000-0
1445-952-2010-0
1446-216-0020-0
1446-216-0031-0
1446-216-0040-0
1446-216-2000~0
1446-301-0010-0
1446-304-0010-0
1446-314-0010-0
1446-314-0020-0
1446-316-0010-0
1446-316-2000-0
1446-316-2100-0
1446-324-0010-0
1446-328-2000-0
1446-402-0011-0
1446-402-0021-0
1446-402-0030-0
1446-404-0010-0
1446-404-0020-0
1446-404-2000-0
1446-412-2002-0
1446-413-0011-0
1446-413-0020-0
1446-413-0030-0
1446-511-2100-0
1446-511-2200-0
1446-511-2301-0
1446-611-2001-0
1446-616-2001-0

1446-616-2100-0

42-32
42— 7
42-15
42-16
42-22
42-31
42-38
55- 4
55— 5
19-18
19-26
19-27
19-30
26-28
27- 1
29-15-1
29-20
30-29
30-17-1

30—-19-1

9-10
11-29
11-30
41-24
41-57
41-58

46-14

1446-617-0010-0
1446—-617-0020-0
1446—-622-0020-0
1446—-622-0030—-0
1446—-622-2000-0

1446-622-2300-0

1446-622-2340-0

1446—622—2350~-0
1446-622-2400-0
1446—-622-2420-0
1446—622-2430-0
1446—622—-2440-0
1446—622-2520-0
1446-622-3000-0

1446-903-0010-0
1446-903-0020-0
1446-903-0050-0
1446-903-0060-0
1447-311-0010-0
1447-331-2200-0
1447-331-2120-0
1447-331-2130-0
1447-402-2001-0
1447-403-2000-0
1447-403-2100-0
1447-404-0010-0
1447-404-0020-0
1447-404-2000-0
1447-404-2100-0
1447-417-2110-0
1447-417-2120-0
1447-417-2200-0
1480—105-0010-0
1480-601-0061-0
1480-901-0030-0
1488-237-2200-0
1488-113-0231-0
1488-510-0082-0

1488-322-2040-0

47-19
47-20
51-28
51-33

51—

1

51-15

51-16

51-17

51-18

51-1

9

51—-24
51~25
51-26
51-27

50—
49—

53-
53-
53-

53-1

5

28-31

11-4

40

51-1

34 41-39

2

92



R dEES

M3 - F

1488-611-0010-0
1488-611-0020-0
1488-611-0030-0
1488-611-2001-0
1488-611-2011-0
1488-611-2100-0
1488-611-2200-0
1488-621-0060-0
1488-621-2200-0
1488-621-2210-0
1488-622-0020-0
1488-622-2000-0
1488-622-2020-0
1488-622-2030-0
1488-622-2050~-0
1488-622-2060-0
1488-622-2200-0
1491-203-0050-0
1503-215-0010-0
1507-101-3000-0
1507-116-0010-0
1507-116-2000-0
1507-116-2100-0
1507-116-2200-0
1507-116-2300-0
1507~120-0010-0
1507-121-0010-0
1507-121-0030-0
1507-121-2000-0
1507—121—2010-0
1507—122-2001-0
1507—-122-2200-0
1507-201—-0010-0
1507-206-0010-0
1507-206-0020-0
1507-207~0010-0

1507-207-0020-0

10-21

46-17

46-18
46— 1
46— 2
46— 8
46-11
50— 5
49— 4
49— 6
50—~ 6
51— 9
51-10
51-11
51-13
51-14
50— 7
18-14
18-25

25— 4
25- 8
25-15
25-18
25-23
23- 17
23-16
23-18
23-10

23-11

22-11

22-12

19-11

1507-207-0030-0
1507-207-0040-0
1507-207-0050-0
1507-207-0060-0
1507-207-0070-0
1507-211-0010-0
1507-212-0010-0
1507-215-0010-0
1507-215-0020-0
1507-216-0010-0
1507-216-0020-0
1507-216-0030-0
1507-216-0041-0
1507-301-0010-0
1507~304-0010-0
1507-304-0020-0
1507-304-0030-0
1507-304-0040-0
1507-304-0050-0
1507-304-0060-0
1507-304-0070-0
1507-304-0080-0
1507~-306-0010-0
1507-306-0020-0
1507-306-0030-0
1507-306-0040-0
1507-306-0050-0
1507-307-0010-0
1507-307-0020-0
1507-307-2000-0
1507-309-0010-0
1507-311-0010-0
1507-318-0010-0
1507-322~0010-0
1507-323-0020-0
1507—-323—-0030-0
1507—323~-0041-0

1507—324—-0020~0
1507—324—0030—0

27- 6
27— 17
27— 8
27-10
27-12
27-13
27-14
27-16
27-18
27-21
27-29
27-30
28— 5
28— 6
28-19
21- 3
21- 6

31-12

[
—
|
[
o)

31-19
31-20
31-30
32- 9
32-10

73




B & 2 — F R HEES R = RE &=
1507-327-0010-0 33-10 7963-905-0050-0 53-37
1507-331-2110-0 35- 17
1507-507-2000-0 39— 1 K135-003-0000-0 40~ 1
1507-510-2000-0 40-15 K135-002-0060-0 40— 2
1507-510-2101-0 40-26 41-31 K135-002-0070-0 40- 3
1507-511-2000-0 41-15 K135-001-0070-0 40- 4
1507-604-0010-0 43-17 K135-001-0080-0 40- 5
1507-604-2000-0 43-12 K135-001-0090-0 40~ 6
1507-604-2100-0 43-21 K135-002-0080-0 40- 7
1507-616-0010-0 47— 3 K135-002-0090-0 40- 8
1507-901-0010—0 53— 1 K135-003-0000-0 41- 1
" a2 K135-002-0060-0 41- 2

K135-002-0070-0 41- 3
1507—901—0030—0 53— 5

K135-001-0070-0 41- 4
1507~901-0040-0 38= U K135-001-0080-0 41- 5
1507-902-0010-0 53— 1-1 K135-001-0090-0 41- 6
1507-902-0020-0 53- 2-1 K135-002-0080-0 41- 1
1507-903-0010-0 §3- 5-1 K135-002-0090-0 41- 8
1507-903-0020-0 53— 6-1 K135-004-0000-0 7-15
1507-904-0010-0 53-18
1507-907-0010-0 53-32 W29620-300700 5-18
1507-908-0010-0 53-33 W20620-300700 5-22
3560-201-0150-0 44- 9 W20126-120550 55- 2
3614-261-2200-0 49- 8
3614—261—2210—1 49— 9
3614-261—2220—0 49-10
3614—262—2300—0 51— 2
3614—262—-2310—0 51— 5

3622—822-0080—-0

3737—172-0090-0
3737-235-0080-0

3740-162-0050-0
3746-261-2050-0
3761-242-0170-0
7956-205-0160-0
7957-405-0030-0
7963-611-0010-0
7963-611-0030-0
7963-613-0050-0

7963-905-0040-0

44—14 51-50
1—14 50-19
22-16

5-13

5-23
30-25
38-38
54-26
42-12
42-19
42-41

53-36

94






Bins 7F7 ART

L2 AN A
TL2700, FREI)N—J U X}

e B2 B B X & #°
AR TRERCEFETIHGCS
B8 =4 * 7N il










HRE RIS x

ISEKI & CO., LTD.

113

£ x 0®
% % K OB X 95
EEFN S 3
Tttt y-BRE
MEgat. - BaR
BrEitetry- BRE
POEB At &~ BRE

hMBEE - RRAR

=
¢3§
'IJ
d.
XN
N
5

|
F!_
v ™
g N
| S

|

M R IR SR e o
]
i
ob

[~
Na Ny M
%

T102
T060
T068
?989;—24
T125
TS523
T790
T 86141
T068
T989-24
T125
T523
T790

T 86141

ARBTREXLEHITIZ 6 8
HBEMPREI 4 £%6 ~1 - 1
ERRW S5 £ 12 - 5
ERRE B TEAEFHER | - 2
AR BEMEXBE AT 2-14-10
BB W TL T\ BETH TR BET K8 6 0 2
B W B K E 700
R x ™ & R B 3257
£ R RH 5 £4% 12-5
BEEREBH TEBFHFERBL - 2
RRBBEMEEAT 2-12-12
BEFSTIL AR TR X456 0 2
# oW Wm B K B 700

B & d & B B 3257

TEL

TEL

TEL

TEL

TEL

TEL

TEL

TEL

TEL

TEL

TEL

3
t=3
&

TEL

TEL

03 (238)5200
011 (231)3640
0126 (22)366 4
02232 (4)1111
03 (609)0311
07483 (7)3831
0899 (79)4111
0963 (22)3301
0126 (22)26 6 4
02232 (4)1111
03 (609)0156
07482(7)383 1
0899 (79)4111

0963 (55)4131



